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Friday, June 1, 2012


--- On commencing at 9:30 a.m.

MR. MILLAR:  Good morning, everyone.  This is day 2 of the Union technical conference.  Mr. Smith, I believe you have panels 3 and 4 available today.

MR. SMITH:  Yes.

MR. MILLAR:  And unless there are any preliminary matters, I will turn it over to you to introduce panel 3.
UNION GAS – PANEL 3 - PARKWAY


Jim Redford


Matt Wood


Chris Shorts

MR. SMITH:  Yes, we have with us today Jim Redford and Matt Wood and Chris Shorts, moving from left to right, dealing with the D.14, 17, and D.18 issues.

Do we have a volunteer?

MR. MILLAR:  Yes, I don't think we discussed an order for questioning.  Would anyone like to go first, or is there nothing for panel 3?

MR. SMITH:  There being no questions...
Questions by Mr. Aiken:


MR. AIKEN:  I will jump in and go first.  I will be very quick.

MR. MILLAR:  Thank you.

MR. AIKEN:  If you could turn up Exhibit J.D-14-2-1, and specifically attachment 1 to that document.  Just a quick clarification question.  So again, J.D-14-2-1, attachment 1.

MR. SHORTS:  Yes, we've got it.

MR. AIKEN:  Okay.  On the second page of attachment 1 at line 1, the total supply at cost is shown as 606,271, and then if you look back at page 1 of the attachment at line 13, I see a total supply at cost of 605,846.  What's the difference in those numbers, about $900,000, what's that related to?

MR. SHORTS:  I don't have that with me today, Randy, so...

MR. AIKEN:  I hate to start it off, but could I have that as an undertaking, please?

MR. MILLAR:  Okay.  We are going to try and beat our record of 57.

MR. SMITH:  $900,000.  Okay.  Yes, you can have that undertaking.

MR. MILLAR:  JT2.1.
UNDERTAKING NO. JT2.1:  TO PROVIDE THE REASON FOR THE DIFFERENCE IN TOTAL SUPPLY AT COST

MR. AIKEN:  Then my other question for this panel has to do with the Parkway West project.  Am I correct that there is no test-year revenue requirement associated with it?

MR. REDFORD:  That's correct.  There is no test-year revenue requirement --

MR. AIKEN:  So then my follow-up question --

MR. REDFORD:  -- associated with that.

MR. AIKEN:  My follow-up question then is, what are you asking specifically for the Board to approve in this application?

MR. SMITH:  Nothing.

MR. AIKEN:  Okay.  Those are my questions, thanks.

MR. MILLAR:  Thank you, Randy.

Who would like to go next?
Questions by Mr. Ross:


MR. ROSS:  Mr. Ross from TransCanada.

We had submitted two questions in advance.  Should I read those out or...

MR. SMITH:  Yes.

MR. ROSS:  So referring to J.B-1-7-8, we asked Union to provide a detailed calculation of the first full-year operating and -- costs of 16.4 million, as well as the average annual owning and operating cost over the next 15 years.

MR. REDFORD:  Yeah, I can answer that.  We do not have a detailed -- a detailed calculation of the first full-year operating cost of 16.4, and we have not calculated the owning and operating costs over the next 15 years. I have a general breakdown of what that 16.4 is.  There was a depreciation of $7 million, interest of $5.4 million, equity return of $8 million, and then there was a taxes gain of 4 -- or offset of $4 million, and that's the level of detail that we have.

MR. ROSS:  So can you tell me, did you use a full-year costs or half-year costs for depreciation?

MR. REDFORD:  Now you are outside my knowledge, but I would assume it was a full-year cost, because the question that was answered was first full-year operating cost of 16.4 million, so I would assume that that is a full-year cost, and we will take that subject to check.

MR. ROSS:  Can you tell me what depreciation rates you used?

MR. REDFORD:  No, I can't.

MR. ROSS:  I would like to ask for a written response to that if I could, to get a detailed breakdown of the 16.4 million.  Two or three other parties have asked us to compare the cost of our alternatives to Union's proposal, and it's pretty difficult to compare what our costs might be to Union's unless we know exactly what costs they used.

MR. SMITH:  No, we are not prepared to provide further detail beyond what we have given you.

MR. SHEPHERD:  Can I just ask why that is?

MR. SMITH:  Well, we just broke it down into the various categories of 16 -- to add up to 16.4 million.  I don't see the utility of going away and adding a further decimal level of precision to that information, Mr. Shepherd.

MR. ROSS:  So did I have an undertaking that you would confirm whether you used a full-year or half-year depreciation?

MR. SMITH:  Yes, we will let you know if the assumption of a full year is wrong.

MR. MILLAR:  JT2.2.
UNDERTAKING NO. JT2.2:  TO PROVIDE AN ANSWER AS TO WHETHER THE ASSUMPTION OF A FULL-YEAR DEPRECIATION IS WRONG

MR. QUINN:  Is there a reason why the depreciation rate that was used would not be an assumption that could be validated?  That is a fair question, and, frankly, the witness panel should have that capability to know what assumptions underpin --

MR. SMITH:  We will provide that as part of the confirmation with respect to the full-year depreciation.  I mean, I do make the observation that there is no revenue requirement and no approval being sought in connection with this project, so our willingness to engage in the level of detail is obviously informed by that.

MR. QUINN:  Noted.

MR. ROSS:  So do I understand that you are refusing to provide an estimate of the 15-year owning and operating costs of those facilities, which are $200 million?

MR. SMITH:  Yes.

MR. ROSS:  The next question I had related to --

MR. THOMPSON:  Sorry, can I just jump in?  Could you explain why you are refusing to provide that?

MR. SMITH:  For reasons previously articulated.  This project will be the subject of a future proceeding dealing with both the facility and then potentially another proceeding dealing with the rate implications of that, and that level of information will presumably be sought in that proceeding.

MR. BRETT:  When is that likely to be, Mr. Smith?

MR. SMITH:  My understanding is that, to the extent the facilities application is required, it will be filed in the third or fourth quarter of this year.

MR. BRETT:  Okay.  So it will be a sort of a twin filing, like a facilities filing, and then side by side with our tolls filing?

MR. SMITH:  No, no, there will be a facilities filing, and that is part of Union's either next rebasing proceeding or IR proceeding.  Then the rate implications of this project will be considered by the Board at that time.

MR. THOMPSON:  Can I just ask one other follow-up?  Suppose the Board excludes the project from your capital budget.  What happens then?

MR. SMITH:  Well, there is no impact of excluding it.  It's not being included in rate base, and it does not form part of the revenue requirement.  The reason that it is referred to in the evidence is there is a filing guideline requirement to file a description in respect of projects over $500,000.

MR. THOMPSON:  To be clear, if that contingency happens, the Board says, We will exclude this from capital budget, will the project go ahead as planned, or will there be some deferral until such time as the alternatives that TransCanada is proposing, and the cost implications can be reasonably compared?

MR. SMITH:  Sorry, we are talking about different things.

The alternative that TransCanada is talking about is a Parkway West extension project.  This is not that project, in any event.

For those who have been involved in OPG's facility -- OPG's application, this is no different than the Niagara tunnel project, which was a large capital project which was not subject to prudence review in OPG's most recent cost of service proceeding, and will presumably be at some time in the future when it comes into rate base.

This would fit into that category.  The Board is not being asked to approve anything in respect of this project.

MR. ROSS:  So can I follow up, then, by asking, from that, do I take that you will be filing a leave-to-construct application for the Parkway West compressor project later this year?

MR. REDFORD:  As we had said in J.B-4-3-2, that we do still target submitting a leave-to-construct application in third quarter, fourth quarter of 2012, and that would follow the completion of an environmental assessment.

And that application will deal with standard or normal leave-to-construct matters, which in this case would be pipeline headers for the Parkway West project.

And we won't be seeking rate recovery at that time, although we would address rate impacts in that leave-to-construct, and then rates -- rate recovery for the Parkway West project would be in the -- whatever process that takes for setting 2014 rates.

MR. ROSS:  So to be clear, you do not intend to file a leave-to-construct application for the Parkway West compression?

MR. REDFORD:  It would be described in that package, but the leave-to-construct would be for the pipeline component.

MR. ROSS:  So Union could proceed to construct the Parkway West compression without leave-to-construct approval; is that correct?

MR. REDFORD:  Yes.  That's my understanding.

MR. ROSS:  And that's what you intend to do?

MR. REDFORD:  Correct.

MR. ROSS:  Those are all my questions.

MR. MILLAR:  Thank you, Mr. Ross.

Mr. Brett, did I see you volunteering? If not, we can --

MR. BRETT:  Just pass me over for the moment.  I just -- I just had one follow-up for Mr. -- the man on the end there.

MR. REDFORD:  Redford.

MR. BRETT:  Pardon me.

MR. SMITH:  That's not his formal name.

MR. BRETT:  You said -- I just didn't pick up -- I have a bad cold.  I didn't pick up that last comment.

What I took you to be saying is there are some parts of the Parkway West project that are pipe-related.  I guess the headers, the custody hardware, so on and so forth.

That is what's the subject of your -- will be the subject of your leave-to-construct.

The actual putting in place and purchasing of the compressors is something that you don't require leave-to-construct for; is that the gist of what you said?

MR. REDFORD:  That's correct.

MR. BRETT:  Okay.

MR. THOMPSON:  Can I just ask, as a follow-up to that, will you go ahead with the compressors if you don't have the approval on the pipeline?

MR. SMITH:  Which pipeline are you referring to?

MR. THOMPSON:  The one that you will be applying leave-to-construct.

MR. REDFORD:  Well, the pipeline headers are a pretty critical component to the whole package, to the Parkway West project, so we would need those approved to move the whole project forward, including the compression.

MR. MILLAR:  Mr. Nadeau, did I see you wanted to go?

MR. NADEAU:  No.

MR. MILLAR:  Okay.  Can we -- Mr. Gruenbauer?
Questions by Mr. Gruenbauer:


MR. GRUENBAUER:  I think this question will be for Mr. Wood.

Mr. Ripley advised me yesterday that, rather than the panels that were sitting yesterday, that you might be able to help me, Mr. Wood.

This is our first technical conference question in reference to the response to our Interrogatory J.B-1-8-1; do you have that?

MR. SMITH:  Just give me one minute, please.

MR. WOOD:  Yes, I have that.

MR. GRUENBAUER:  We asked questions on four of the responses, and if any of these are more efficiently provided by way of an undertaking, that would be fine.  I know I just provided these questions a couple of days ago.

Part (c), we were looking for historically what date the minimum set pressure was reached for that period of one hour; do you know that, or can you undertake to provide that?

And there, we were just interested -- was it within the last couple of years, or was it, like, 10 or 15 years ago?

MR. WOOD:  It was in 2010.

MR. GRUENBAUER:  It was in 2010?

MR. WOOD:  Correct.

MR. GRUENBAUER:  Thank you.  With respect to the response at part (f), we asked about what are the designed remaining life spans of the Kitchener gate station, and the Plains Road station serving the gas distribution utility of Kitchener.

And the response was:

"The design and remaining life spans for these stations are indefinite until load changes."

And frankly, we don't understand that.  How can design and remaining life spans for the stations be considered to be indefinite?

And being a bean counter, I wasn't the only one that was confused by this; our gas engineer didn't understand it, as well.  Our understanding was all assets of this nature have a finite service life, and what I tried do with this document I provided a couple of days ago was -- it may be a crude estimate, but I took the implied depreciation in part (e), the difference between the net book values at the end of '13 and 2012, which is $1,600, divided that by the capital cost of the rebuild provided in past (a) at $53,000, and I just came up with a number that would be approximately 33 years.  And I thought:  Okay, that almost makes sense.

Could you maybe clarify what was meant by "indefinite"?

MR. WOOD:  Yes.  The term "indefinite" in this response was due to the fact that a station is built to meet current and forecasted requirements, and would not be rebuilt to handle increased capacity until a time when forecast demands exceed existing capacity.

That being said, small components may be replaced as required for maintenance or due to obsolescence, but the station in its entirety is not replaced unless it requires significant maintenance.

MR. GRUENBAUER:  Okay.  So it's tied to the possible need for an increase caused by increased load flowing from the station?

MR. WOOD:  The replacement of a station may be required if the demand increases beyond the station capacity.  Is that your question?

MR. GRUENBAUER:  Well, it kind of segues into the next one that I asked, which was in part (g), that the response seemed to indicate that the rebuilds only arise when the load is added by contract as requested by customer, but we were kind of curious about -- what about normal course rebuilds necessary to replace aged or obsolete infrastructure that's reached the end of its useful life?

Do you do that in your ongoing capital planning, and would our two stations be captured in that planning process?

MR. WOOD:  Yes.

MR. GRUENBAUER:  And when -- when do our stations come up for that sort of assessment and potential rebuild that has nothing to do with any load changes, but simply to do with the age or usefulness of the existing stations as they are?

MR. WOOD:  Stations are inspected on a regular frequency, and any identified maintenance requirements would be addressed and could be added to the capital.

The question indicated more towards complete station rebuild, which, unless there was a maintenance issue, would only be due to not being able to meet increasing demands.

MR. GRUENBAUER:  Would you need to completely rebuild the station in order to increase the minimum operating pressure, or would only portions of the station require replacement?

MR. WOOD:  I don't have that information.

MR. GRUENBAUER:  And the last follow-up question we had there, in the interrogatory we asked, with respect to Union's facilities fed from Dawn-Trafalgar system that are adjacent to the facilities serving Kitchener, have there been sustainable reductions in the utilization of existing capacity due to an industrial demand destruction that would reinforce the integrity of design minimum operating pressures of Union's facilities downstream of the Kitchener gate station and to Waterloo and St. Jacobs.


And the facilities that we were really referring to there, I am sure no surprise, was the Owen Sound lateral, and so the follow-up question in response to the answer which said that, no, that there hasn't been a decrease in demand as new loads have been attached was.  Just looking for some information on the peak-day demands for that Owen Sound lateral.

Are they the same now as they were prior to that industrial demand loss, and what is respectively the most recent normalized peak demand and design demand for that lateral?  Would you be able to provide that?

MR. WOOD:  Yes.  So, yes, the demand has not decreased or increased significantly in the past ten years.  It is difficult to normalize peak demand, but the current design demand for the Owen Sound lateral is 7,743 10-cubed M-cubed per day.

MR. GRUENBAUER:  Sorry, 7,743?

MR. WOOD:  Correct.

MR. GRUENBAUER:  10-3 M3?

MR. WOOD:  Correct.

MR. GRUENBAUER:  And that would assume the difficult planning criteria, 44-degree day?

MR. WOOD:  Correct.

MR. GRUENBAUER:  All interruptibles off, all firm on?

MR. WOOD:  Yes.

MR. GRUENBAUER:  Okay.  And that -- I guess is that number substantially above what you say the highest peak over the last ten years has been?  Would you know that?

MR. WOOD:  I don't have that information.

MR. GRUENBAUER:  I am just trying to get a sense of, if there is some spare capacity on that line, particularly of a -- around the peak.  That's -- and what I'm trying to get a sense of, if there is any significant spare capacity.  That sort of helps that looping around our facilities.  Is that something you can provide by way of undertaking?

MR. SMITH:  Yes, we will do that.

MR. GRUENBAUER:  Thank you.

MR. QUINN:  I just have a follow-up to Mr. Gruenbauer's question, because something didn't make sense in the response.  The lowest actual winter set delivery pressure provided by Union has been given as 1,300 kPa.  It reached this level for one time for a period of one hour.  Would you agree with me that's probably not an actual winter set pressure but a temporary condition?

MR. WOOD:  I can't -- I can't answer that.  I don't have that information here with me.

MR. QUINN:  Well, clearly when you have a winter set delivery pressure you don't set it for an hour and then say, you know, Summer's here.  So I was wondering if you could provide an actual winter set delivery pressure that was in place for a winter, as opposed to a one-hour set, which is obviously temporary and could have been facilitating some form of construction or maintenance that had to occur.

MR. WOOD:  I had interpreted the question to ask, if the minimum set pressure at the station had been reached, and it had for a period of time in 2010.  That is the minimum pressure that the station is -- can handle to meet demands in the winter.

MR. QUINN:  That's not -- that's not accurate.

MR. WOOD:  Okay.

MR. SMITH:  Sorry, what isn't accurate?

MR. QUINN:  The answer that was provided as...

MR. SMITH:  Well, what aspect of it was inaccurate, in your view, Mr. Quinn?

MR. QUINN:  It says, what is the actual winter set delivery pressure.  It reached that pressure.  That isn't the set pressure.  To the extent that it was either changed or dropped, it is a temporary condition.  So if you could supplement that answer with what the actual winter set was, I think that would be helpful to Mr. Gruenbauer and the utility.

MR. WOOD:  I don't have that information with me here.

MR. QUINN:  If you could supplement it with the undertaking that you had given him.  It's just a case of going back into the record.

MR. SMITH:  Yes, we will do that.

MR. QUINN:  Okay.  Thank you.

MR. MILLAR:  I think that's all part of the same undertaking, which is JT2.3.
UNDERTAKING NO. JT2.3:  To provide data actual winter set delivery pressure

MR. MILLAR:  Who would like to go next? Mr. Brett.
Questions by Mr. Brett:


MR. BRETT:  Maybe I will go and get this -- I did send some questions around earlier last week -- earlier this week, whenever.  But just before I get into those, I had a general question, a little more general question on the Parkway West project.  And incidentally, are you -- is this panel going to be able to answer some questions on gas supply as well, Mr. Shorts?  You are here, I see.

MR. SHORTS:  Yes.

MR. BRETT:  Okay.  I will come to that in a moment.  But just going back to the Parkway West, we had a discussion yesterday here with Mark Isherwood about a very general discussion about the approvals that TransCanada received a few days ago from the NEB to construct, I guess, among other things, about a 10-kilometre line of pipe from Parkway toward Maple and then do some renovations in and around the Maple yard.

And as I understood the exchange, basically Mark was saying TransCanada's expansion was tied specifically to some contracts that they had to realize on, and it was a 2012 facility application.

So I take it from that that that decision that TransCanada received doesn't affect in any way, in any major way, what Union has been and Spectra have been speaking of as a Parkway extension project?  In other words, TransCanada is -- it's a little piece, but it's 10 kilometres, and as I understand the descriptions of the Parkway extension project that appear in some of the presentations that you have made and that are in the evidence, the distance of what you are talking about is quite a bit longer.  You are talking about a Parkway extension, a new pipe, or an expansion, a twinning of pipe, that would go all the way from Parkway to Maple; correct?

MR. REDFORD:  That's correct.  We would propose a pipeline that would go from Parkway to Maple, the whole path.

MR. BRETT:  Right.  The whole path, and then you -- there was some discussion -- and this may be a separate project.  It may not be linked directly.  But there is also some discussion, not yesterday, but in the materials, about a possible joint project with Enbridge that I take it would go off the Parkway-to-Maple piece to jointly own pipeline, which would bring additional gas into the GTA.  Is that fair?

MR. REDFORD:  Well, our vision was that it would be -- we would own a common pipeline with Enbridge to a certain point and then build from the end of that pipeline to Maple.

MR. BRETT:  Oh, I see.  Right, right, right.  But the pipe that comes off the Parkway-Maple, the sort of spike into GTA, would that be Enbridge alone, or would that be you and Enbridge as sort of...

MR. REDFORD:  Well, if we were to do the Parkway extension project, we were looking at that being a joint pipe, jointly owned.

MR. BRETT:  Okay.  And just, I mean, broad strokes, what's the likely timing for that, from your point of view?

MR. REDFORD:  I am not sure.  We just closed our open season, are working through the bids, and are continuing to talk to the market, so we are unsure as to when that might get built.

MR. BRETT:  Okay.  So you have to assess whether there's a -- essentially whether there is a market there for that extra capacity; right?

MR. REDFORD:  Correct.  And that capacity really is -- it is incremental capacity to the 2012 eastern-Canadian mainline expansion.

MR. BRETT:  That was my understanding, but that is what you are confirming, because I think what they said yesterday was that all of that expansion, all of that capacity that TransCanada has put in -- and I am not the pipeline engineer, but I note they have only got a 10-kilometre piece there.  They are not going all the way.  So they -- so two things, I guess.  One, that capacity is already spoken for, because they had to have those contracts in place before they got approval, presumably, or at least precedent agreements.

MR. REDFORD:  Yes, our understanding is that the 2012 eastern Canadian main line expansion is underpinned by contracts.  It would have been -- come out of -- I think it was a 2010 open season, the TransCanada.

MR. BRETT:  Okay.  So this goes back?

MR. REDFORD:  Mm-hmm.

MR. BRETT:  And then the second consequence is that the so-called bottleneck in that area still exists.  It hasn't done anything about the remaining, the bottleneck from the end of that piece of -- well, it hasn't –- really, as I understand it, it hasn't changed -– let's put it this way.

To the degree that there is a bottleneck at the moment between Parkway and Maple, that project has not changed that at all, because it's simply taken some capacity, it's simply put in place to serve some needs that can be served from a 10-kilometre pipeline.

MR. REDFORD:  I would say that that expansion helps the bottleneck.

MR. BRETT:  It helps?

MR. REDFORD:  It certainly helps it; it's expanding capacity through that corridor.  And both TransCanada and Union conducted open seasons to continue to relieve that bottleneck.

MR. BRETT:  And you subscribed, I guess, actually, for some capacity in that 2012, did you not?  From Kirkwall, the Niagara facilities?

MR. SHORTS:  We have capacity on the Niagara-to-Kirkwall components.

MR. BRETT:  That's what I thought, yes.  Okay.

So you have run an open season, and I understand that's done long in advance of actually putting pipelines in the ground, because I understand it's a lengthy process to firm up the market.

Now, what I just wanted to get round to is the -- and I am sure you are getting this, I am sure this isn't the first time this question's been asked, but if you were -- let's put it this way.

If you were not going to proceed with your own Parkway expansion -- and I am not suggesting you are not.  I mean, I think it's likely that you will, but if you weren't going to proceed with your own Parkway expansion sometime in the next few years, would you still be seeking this series of -- would you still be putting this project forward?

MR. SMITH:  Sorry, which project?

MR. BRETT:  The project that's defined in the evidence, in Mr. Redford's evidence, the Parkway West compression cum headers cum custody transfer cum valve changes.

MR. REDFORD:  The answer is yes, we would still put the Parkway West project forward, independent of whether we build a Parkway extension project or not.

MR. BRETT:  Okay.  Okay.  And I guess the -- and is the reason for that, whether or not you build the Parkway extension, was one of the reasons, whether or not you happen to build the Parkway expansion, somebody is going to build a Parkway expansion, therefore there is going to be additional flows going through Parkway one way or the other?  Is that fair?  I mean, is that what --


MR. REDFORD:  Yes.  As we stated in our evidence, our belief is that flow through Parkway by 2015, 2016 could be 3 PJs a day.  And at this point, it's 2 PJs a day, and we believe that Parkway has become a critical point in gas supply in Ontario and that it needs increased reliability at that point.

MR. BRETT:  Now, I haven't had a chance -- you and TransCanada had a lengthy dialogue, if I can put it this way, around this project, and you have each asked a lot of interrogatories of the other and I haven't had a chance, really, to plough through the interrogatory responses.

I have yours; I have studied yours carefully, but I haven't really had a chance yet to study the TransCanada replies to you.

So this is sort of from the hip a bit, but TransCanada has put forward this notion that there is alternatives, and they have laid out what those alternatives are.  And you have come back and said, Well, those really don't do it for one reason or another.

Could you just -- I think you put on the record, actually, why -- I think you have is gone on the record and put on the record point by point why each of the alternatives don't really work from your point of view.

Is that sort of your complete analysis of it?  Is there anything else, any other problem that you have with the alternatives as posed by TransCanada?  Or is that all on the record pretty much now?

MR. SMITH:  Mr. Brett, I am not -- it may be of assistance if you -- when you say that there is a response on the record, if you --


MR. BRETT:  Identify it?

MR. SMITH:  Yes, please.

MR. BRETT:  Well, yeah, all right.  Let me switch gears for a moment here.

Can you answer a question on the Bluewater line?  Are you familiar with the Bluewater system, more or less?

MR. REDFORD:  I might be able to.

MR. BRETT:  I may --


MR. REDFORD:  It depends on what the question is, but I am familiar.

MR. BRETT:  I had asked a question, an interrogatory on it, and it really -- but it was sort of a lengthy thing, but the essence of it, since I wrote that interrogatory, there has been some recent information that I think I can shorten it up and simplify it.

As you know, recently Bluewater Storage and St. Clair Pipelines -- and I realize neither of these are Union companies, and neither of these is Union Gas -- have made application to the Energy Board -- to the National Energy Board to effectively build a new pipe under the river.

And I take it that's because they were previously leasing a pipe from Nova, and the lease has come to an end so they have to have their own pipe now, so they are going to build a new facility.

And St. Clair has filed, as I understand it, with the NEB, and Bluewater Storage has filed with FERC.

Now, this was discussed yesterday briefly, and I was just left a little bit confused by one point.  The capacity of that line is something like 200,000 cubic metres a day; is that roughly right?

MR. REDFORD:  Of the existing line?  Of St. Clair's line?

MR. BRETT:  No, the new proposed line.

MR. REDFORD:  Oh, of the proposed St. Clair Pipeline addition?

MR. BRETT:  Yes.

MR. REDFORD:  It is -- well, it is in the NEB filing; it is referenced in the NEB filing.  I recall it was more like 250, 250 million cubic feet a day.

MR. BRETT:  Okay.  Now, that pipeline, does Union -- and this may be for either you or Mr. Shorts -- does Union currently move gas on the existing Bluewater line?  Is that part of your supply path for your own gas?

MR. SHORTS:  If you look at Exhibit D3, tab 2, schedule 5, page 2 of 2, you will note that Union does hold 115,000 MCF contract on that path.

MR. BRETT:  Okay.  Now, that gas comes on that path, and then where does that gas go on the Canadian side?  Does that get to Dawn, or is that used by displacement in the Sarnia area?

That was what we didn't quite get through yesterday.

MR. REDFORD:  So the Bluewater line feeds into the Sarnia market.  It actually feeds into the 12-inch Sarnia industrial line, right just south of Sarnia right at the Aamjiwnaang First Nation reserve right in that area.

And it is -- and the amount of gas that can come in on Bluewater, as well as other pipelines in the area, is restricted to the Sarnia market, the ability of the Sarnia market to consume that gas.

MR. BRETT:  I see.  So there is no direct path to Dawn for that gas?

MR. REDFORD:  Yeah, I --


MR. BRETT:  Let me put it another way.  I am putting it badly, but -- the gas can't get to Dawn?  The pipes aren't sufficient capacity?  I mean --


MR. REDFORD:  I think it's -- as a practical matter, it's just not real feasible to get that gas to Dawn.

MR. BRETT:  Okay.  All right.  So that's what's meant by -– now, would that same thing be true of the MichCon-St. Clair crossing further south?

MR. REDFORD:  Well, the MichCon-St. Clair crossing comes in right at the head of the Sarnia industrial line.  It also feeds into the Bickford-Dawn system, which is a storage header system.

MR. BRETT:  So it can get directly to Dawn?

MR. REDFORD:  Well, again, it could get to Dawn.  However, it really depends on what that line's being used for, in terms of storage.

MR. BRETT:  All right.

MR. REDFORD:  I will say that it's not typical that that gas can get to Dawn on a 365 basis.

MR. BRETT:  Okay.

MR. REDFORD:  In fact, that is not the case.

MR. BRETT:  Okay.  Okay.

MR. REDFORD:  So again, it feeds into the Sarnia market as well.

MR. BRETT:  Okay.  Now, I had asked a question -- we had asked a question -- this numbering system is amazing.  Anyway, J -- this, I think, is J.0-1-16-1.  This is a little awkward, because we don't all have binders set up like yours by number.

MR. SMITH:  This is J.0-1-16-1?


MR. BRETT:  Yes, it's a BOMA interrogatory.  It is one of the ones I sent over a while back.  And it was a simple question.  Do you have it there, or...  I guess you...

MR. REDFORD:  J.0-1-16-1?

MR. BRETT:  Yes.

MR. REDFORD:  Yes, I have it.

MR. BRETT:  It talks about:

"Please provide a forecast for the test year and the following IRM years of the percentage utilization of Union-St. Clair Line."

And then it says here, "Please see the response to J.C-4-14-2", and I looked at that this morning, and in the original evidence it said that you had 1.2 million -- what would that be, cubic metres, for the Bluewater system?  I think you just used a number, Mr. Shorts, of something like that.

MR. SHORTS:  Capacity is 115,000 MCF.


MR. BRETT:  Yes.  And zero for the St. Clair line, and then you added the comment that in 2011 you had 2 million.  Could you just -- you had 2 million cubic metres, and that you don't say whether it was the Blue line -- the Bluewater or the MichCon.  You just say "St. Clair Line".

So is that actual 2011 gas -- is that all from Bluewater?

MR. SMITH:  I'm sorry, I am sure this is my fault, Mr. Brett, but I was at J.O-1-16-1, which cross-references to 4-14-2, and where is the 2 million reference that you were talking about?

MR. BRETT:  Well, I am just scribbling down notes here from it.  I don't have the actual J.C-4-14-2 in front of me.  But let me put it this way:  There was a piece of information in that IR response about the actual amounts of gas, the actual usage of the St. Clair line in 2011; correct?

MR. SMITH:  The capacity utilization is set out in an attachment to that interrogatory J.C-4-14-2 --


MR. BRETT:  Yes.

MR. SMITH:  -- including in respect of 2011.

MR. BRETT:  Right.  Well, it was actually -- there was an actual number for 2011.  Did you see that?

MR. REDFORD:  Yes, we did.

MR. BRETT:  And then what is -- my question then was, that's the St. Clair line, and then how much of that is coming through the Bluewater crossing?  Is all of it?  Or can you tell from that?

MR. REDFORD:  In the '11 numbers?

MR. BRETT:  Yes.

MR. REDFORD:  Yes, I think the utilization is set out differently between St. Clair to Dawn and Bluewater to Dawn in the table.

MR. BRETT:  All right.  Well, I will go back and check it.  But then going forward -- all right.  So you really -- what I was trying to get at was the -- where that gas was coming across, whether -- how much of it was coming at MichCon-St. Clair, and how much was coming at -- across at Bluewater-St. Clair, because the St. Clair line is getting gas from both crossings; right?  That's --


MR. SMITH:  Mr. Brett --


MR. BRETT:  This is a fairly straightforward question.

MR. SMITH:  No, no, but let me just -- I think there is a -- because you don't have the interrogatory in front of you, I think there's a -- the source of your confusion is, there was an undertaking given yesterday to disaggregate the St. Clair-to-Dawn and Bluewater-to-Dawn figures for 2012 and 2013.

MR. BRETT:  Okay.  So they were added -- they're going to be provided as an undertaking.

MR. SMITH:  Yes.

MR. BRETT:  Okay.

MR. SMITH:  They were disaggregated already in the IR for earlier years.  That's why the witnesses are --


MR. BRETT:  Okay.  All right.  Well, then I -- we'll wait for the undertaking.

Okay.  Let me go back then to the other materials that I sent over, and the first one was -- or question, actually, on the -- my -- you had answered a reply J.B-1-1-2(a), and I think that's the Board Staff IR.  I think it's the first one where you lay out the sort of -- you lay out a high-level summary of the Parkway project, Parkway West project.

Do you have that question there of mine?  It's sort of -- it's cited as question (a) to my first question.  And just while you are turning it up, what I am asking there is, you talk about two different kinds of measurement systems, custody transfer measurement and check measurement.  And I asked for a kind of a comparison of what's involved in -- what are the differences and similarities in those two things.

The reason for the question is that you are proposing to put in place custody transfer measurement facilities as part of the Parkway West project, and I notice that in some cases there you have -- already have check measurement facilities, but you're upgrading them, so that's what I am trying to get at.

What's the rationale for upgrading the meter facilities?  What do the custody transfer measurement facilities give you that the check measurement facilities do not?  That's the question, really.

MR. WOOD:  Regarding the upgrade at the Parkway site?

MR. BRETT:  Yes.

MR. WOOD:  The current check measurement at the Parkway site does not meet Measurement Canada standards, which it doesn't need to as check measurement, but Union is looking -- Union has an internal policy that our check measurement must meet Measurement Canada standards, so this upgrade would ensure that it does that, which provides more accuracy to our readings.

MR. BRETT:  So your policy is that you shouldn't have check meters anywhere, that they should -- all your metering facilities should be of a nature that are compliant with the standards?  Is that what you are saying?

MR. WOOD:  The term "check measurement" just means that we have our own set of measurement to check against --


MR. BRETT:  Somebody else --


MR. WOOD:  -- the custody transfer.  The upgrade is just making sure that our check measurement is accurate enough that we can properly compare against the custody transfer measurement.

MR. BRETT:  Okay.  But you mention you had a uniform -- is this a Union policy or a Sempra (sic) policy or both?  I guess it's both, is it, to have custody transfer?

MR. SMITH:  You mean Spectra.

MR. BRETT:  Huh?

MR. SMITH:  You said "Sempra".  You mean Spectra.

MR. BRETT:  Sorry, Spectra, yes.  Pardon me.  Sorry, guys.  That's a no-no.

MR. WOOD:  It's a Union policy.

MR. BRETT:  Okay.  Now, do the transfer facilities to -- the direct transfer facilities to Enbridge at Parkway and at Lisgar, those are upstream of the compressors.  Do they have -- what's -- do they have –

Are you installing new custody transfer measurements there, those two sites?  Or are they already there?  Or -- what have you got there now?

MR. WOOD:  Union currently operates custody transfer measurement at both those sites.

MR. BRETT:  At both; so the only place you have meter, a check measurement, is on the – is where you supply TransCanada?

MR. WOOD:  Correct.

MR. BRETT:  Okay.  The second question, and I guess this is -- some of these are pretty basic, but I try to understand what components of this project are.

When you talk about headers, replacing headers or putting in new headers, what function do they perform and where are these going in as part of this project?

MR. WOOD:  Headers are pipe internal to the compressor station.  They connect the compressors to the main lines, and the headers are typically designed to allow varied yard configurations, depending on the required flow.

Station typically has a suction header and a discharge header, with a suction header connected to the suction side of the compressor and the discharge header connected to the discharge side of the compressor.

MR. BRETT:  So which --


MR. WOOD:  Sorry, Mr. Brett.  Can I just ask Mr. Wood to slow down a little bit, because the reporter has to take it down?

MR. BRETT:  What header facilities are you putting in as part of Parkway West, the new header facilities?

MR. REDFORD:  In general terms, we need pipeline to get from the Dawn-Parkway system, the existing Dawn-Parkway system, up to the site, up to the Parkway West site.  And then within the station itself, there would be headers within the station, getting to and from -- whether it's the section --


MR. BRETT:  All right.  So these are all in connection with the -- these are directly linked to the two new compressors; to the -- all right.  I understand.  Okay.

MR. REDFORD:  To the compressors and to the second feed to Enbridge, as well.

MR. BRETT:  To the what, sorry?

MR. REDFORD:  To the second feed to Enbridge.  So we would use the same pipelines.  You can call them pipelines.  We call them pipeline headers.  Really, they are simply a pipeline going from Dawn-Parkway to the Parkway West station, to the edge of the station.

That would carry the gas that would go to the LCU unit.  It would also carry the gas going to the second feed to Enbridge, as well, within that Parkway West station.

And then within the station itself, there is headers to move gas around.

MR. BRETT:  Okay.  Now, your existing compressors at Parkway, do they -- what age are they?

MR. WOOD:  The Parkway A compressor was built in the early '90s.  The Parkway B compressor was built in 2007.

MR. BRETT:  Okay.  So does the one built in the early '90s, does it require upgrades to meet environmental standards?  Or has it been fully upgraded

MR. WOOD:  Neither of the compressors at Parkway require upgrades to meet environmental standards.  They have been approved under the comprehensive certificate of approval.

MR. BRETT:  Okay.  Now, this is J.B-1-13-4, and I want to just cite a statement from there.  This is one of the questions, the written questions that you have that I gave you some days ago.  It's on page 2, the top of page 2.  I am just going to read this out, because I don't have J.B-1-13-4 in front of me, but what my question says is:

"At (b)(i), you state that: 'A compressor outage may or may not impact deliveries to either Parkway' -- that's Consumers at Parkway –- 'or Lisgar, as those volumes are delivered from the suction side of Parkway compression.'"

And then you go on to say:

"Union does not have any other urban centre as large as the GTA served through similar facilities."

Now, I guess -- my question, then, specifically is:  Why might Union compressor facilities at Parkway impact deliveries to Parkway Consumers or Lisgar, given the fact that those delivery points are upstream of the compressor? Why would you say they may affect them?

MR. WOOD:  If the compressor failure was catastrophic and required isolation of the yard.

MR. BRETT:  Sorry?

MR. WOOD:  If the compressor failure was of a nature that required isolation of the yard, flow to Parkway Consumers could be impacted.

MR. BRETT:  So what do you mean by "cataclysmic"?  Like a blow-up, with a fire, a huge fire or something?

MR. WOOD:  It would be an impact, an event significant enough that we would require isolation to the yard.

MR. BRETT:  When you say "isolation to the yard" what do you mean?  What do you mean there?

MR. WOOD:  The valves that supply gas from the Dawn-to-Parkway system would need to be shut.

MR. BRETT:  Okay.  Now, what can you tell me about how -- is that, like, a once in 10-year event or once in 20-year event?  Or how likely is that kind of a breakdown, cataclysmic breakdown?

MR. WOOD:  I can't speculate on the probability.  I don't have that information with me.

MR. WOLNIK:  Tom, mind if I ask a follow-up question on that?

MR. BRETT:  No.  Go ahead.

MR. WOLNIK:  Can I take you to J.B-1-2?  This is the sketch and, I guess, the attachment that you provided to that interrogatory.

It shows -- it shows the compressor station there, and it also shows the piping configuration where you feed both Lisgar as well as the Parkway compressor station.

Have you got that?

MR. WOOD:  Yes, I have that.

MR. WOLNIK:  So as I understand that detailed Parkway valve site, it looks like there is a block valve that feeds Lisgar from both the 26-inch and the 34-inch; is that right?

MR. WOOD:  Yes.

MR. WOLNIK:  Then it looks like there is take-off valves that feed the -- I am assuming that the two lines going off the top of the page actually feed into the Parkway compressor, and it appears like there is individual valves off all three main lines, the 26, 34 and 48, that feed that compressor station; is that right?

MR. WOOD:  That's correct.

MR. WOLNIK:  I would have that, in order to isolate the compressor station, you would isolate those individual valves and the flow could continue through to the Lisgar measurement station; is that correct?

MR. WOOD:  That is correct.  Upon further review following our response, it does -- an impact to Lisgar is very unlikely in the event of a compressor failure.

MR. WOLNIK:  Okay.  So the LCU reliability Parkway to feed into Lisgar would be zero or very de minimus?

MR. BRETT:  And you are differentiating -- sorry, I didn't mean to...

Is that true, the answer to that?  Or...

MR. WOOD:  Are you asking about a compressor failure impacting it?

MR. WOLNIK:  We're talking about LCU and compressor failure.  So I am trying to understand -- I mean, part of the evidence was the need to rebuild Parkway to improve reliability to Enbridge, so for deliveries related to the Lisgar measurement station, like Tom, I want to understand the impact of those.

And I am getting the sense that there is little or none.

MR. WOOD:  It would be -- an event at the valve site would have to occur, or on the pipeline west of that site, to impact Lisgar.

MR. WOLNIK:  And any valve site, that would be true for any valve site?  Not just this particular one; right?

MR. BRETT:  Would that be true, as well, for the connection with Consumers at Parkway?

MR. WOOD:  Well the connection to Consumers -- the gas goes through the Parkway yard.  That's the difference between --


MR. BRETT:  Okay.  That's the difference.  Yes, Lisgar is a couple of miles down or something.

MR. WOLNIK:  It looks like there is two feeds into the Lisgar measurement station off the 26- and 34-inch.

MR. WOOD:  Correct.

MR. WOLNIK:  So there really is no impact?

MR. WOOD:  Of a compressor failure to Lisgar?  Likely not.

MR. WOLNIK:  Thanks.  That's helpful.

MR. BRETT:  There may or may not be anything to this, but your last sentence there:

"Union does not have any other urban centre as large as GTA."

Sir, what are you trying to convey there?  That this is just a -- this is sort of a new feature for you, and, you know -- what is that saying?  What's the relevance, I guess, of that comment?

MR. WOOD:  The message there that we are trying to convey is that other urban centres, Union typically feeds through multiple feeds.  The Parkway-Lisgar area is unique to Union, in that we only feed it through those, the points at Parkway.

MR. BRETT:  Oh, I see.  You mean multiple pipeline feeds, where you come in at different sides of the city?

MR. WOOD:  Correct.

MR. BRETT:  Like Kitchener or something like that?


MR. WOLNIK:  Just one more to just follow-up on that, Enbridge has multiple feeds off of TransCanada though, right, you are not the only feed into that system?

MR. WOOD:  Correct.

MR. BRETT:  Like Kitchener or something like that or...  All right.

MR. WOLNIK:  Just one more to just follow up on that.  Enbridge has multiple feeds off of TransCanada, though; right?  You are not the only feed into that system?

MR. WOOD:  Correct.

MR. REDFORD:  I think the other obvious piece is that there is not a centre in Union's franchise as large as the GTA, as large as Enbridge's franchise within the GTA, so we just don't feed a load that big.

MR. BRETT:  Okay.  I think those are the specific questions that deal with that project, and I just want to check on the gas side of things here.  Just give me a moment, if you will.  I just...

Yes, okay.  Let me -- if you would turn up -- these are some of the supplemental schedules to tab D that have to do with gas, Mr. Shorts.  This is Exhibit D3.  And there is a series of -- tab 1, and there are schedules there, 1 to 6.  You are probably familiar with this.

And these are really more a matter of just making sure I understand your terminology.  There is nothing very exotic about these questions.

Do you have that?  Tab 2, schedule 1, page 1?

MR. SHORTS:  Yes, I have that.

MR. BRETT:  Okay.  Just a few quick questions here on some of these numbers to make sure I am reading them the way I should read them.

On line 8 you talk about northern bundled T service.  Now, this is the -- first of all, this schedule 1 is a -- it's your gas purchase expense for the test year; right?  And you have transportation at the top, and then you have supply and then storage.

Now, line 8, as I said, northern bundled T service.  Why is that broken out separately for the north?  Is that because the -- like, why is that a separate item, I guess is my question.

MR. SHORTS:  Well, northern bundled T service customers actually deliver the gas to Union at Empress and then basically piggyback off of Union's transport contracts on TransCanada.

MR. BRETT:  Okay.  So that's to make the -- that's to make the match up with your transportation contracts as well there?


MR. SHORTS:  Yes.

MR. BRETT:  Okay.  And that's -- okay.  I see.  There is no Ontario -- all deliveries take place at Empress for that; is that right?  For that --


MR. SHORTS:  For the northern bundled T service, yes.

MR. BRETT:  Okay.  And then schedule 2, turning over to schedule 2 -- let's see here...

Okay.  So tab -- we have tab 2.  I was talking to you about tab 2, schedule 1.  Tab 2 -- schedule 3 on tab 2, you have a reference there to Ontario delivered supplies on line 6, and that's 83.3 terajoules.

Now, could you explain -- what-all is in -- Ontario delivered supplies is -- what-all is in that?  Is that both gas that -- that's not simply gas landed at Dawn?  That's not the same as discretionary gas, is it?  That's any gas that you purchase for delivery at Dawn.  It could come in under a variety of transportation arrangements?  Is that what that is signifying?

MR. SHORTS:  Tom, if you look at J.D-14-7-8, that's where that's described.

MR. BRETT:  Sorry, just give me that again?

MR. SHORTS:  J.D-14-7-8.  That's where that's described.

MR. BRETT:  Okay.  That's discussed there?

MR. SHORTS:  Yes.

MR. BRETT:  And -- because there was a -- I wanted to get a reconciliation of that number with another number, which -- yes, I am sorry.  Okay.  Here it is.  And it may be the same reference, Mr. Shorts.

But if you just go back to tab 2, schedule 1 again, Exhibit D, tab 2, schedule 1, the one we were discussing a moment ago, with the northern bundled T?

MR. SHORTS:  Page 1, yeah.

MR. BRETT:  Yes, just above that there is a reference to Ontario delivered supplies of 18.5 terajoule -- sorry, 16.3 terajoules.  Now, are those -- those mean -- no, that's a -- well, first of all, I guess those numbers are different, very -- quite substantially different.

What's the distinction there?  One is about six times the other.

MR. SHORTS:  You have to remember, Tom, that these volumes only relate to the delivered supplies from the gas purchase expense that Union would actually be incurring, whereas the volumes in that answer are actually all the volumes that direct-purchase customers in the south would also deliver.

MR. BRETT:  That's in the IR answer?

MR. SHORTS:  Yes.

MR. BRETT:  But then just looking at these for a moment, Chris, if you look at that -- looking at tab 2, schedule 1, you have got a -- you've got supply commodity, and the way it's organized is western Canadian firm -- I remember going over this with you about ten years ago -- western Canadian firm is stuff that comes in under -- well, these are firm supply contracts, right, sourced in western Canada, 43 million U.S. firm, same idea, 16 million terajoules of Ontario delivered supplies.

Now, when I read that first I assumed that meant gas that you bought month to month, in effect, in Ontario.

MR. SHORTS:  No, those would just be supplies that would be landing at Dawn or at Parkway.

MR. BRETT:  Oh, I see.  Okay.  So it's -- but does that include -- why is it separate then from, say, U.S. firm?  Don't they all come into Dawn as well?

MR. SHORTS:  We wouldn't be able to make the distinction.  If we were buying the gas at Dawn, then we wouldn't know where it was sourced from, whether it was western Canadian gas making its way through --


MR. BRETT:  Right.

MR. SHORTS:  -- or U.S.-source gas --


MR. BRETT:  Okay.

MR. SHORTS:  -- if we just purchased it at Dawn.

MR. BRETT:  Okay.  But then what's the Ontario delivered supply mean then in that context?  What -- how do you know -- how do you get to that -- what does that 16 million number represent?  Like, how -- what is that?

MR. SHORTS:  That's the amount of gas in the plan for '13 that we would be planning on buying at Dawn, predominantly.

MR. BRETT:  Okay.  As opposed to, say, in some U.S. basin further upstream.

MR. SHORTS:  Correct.

MR. BRETT:  Okay.  That's a sales -- that's a commodity sales transfer point, effectively, Dawn, at Dawn.

MR. SHORTS:  Yes, we would be buying gas in the market at Dawn.

MR. BRETT:  Okay.  Whereas these others refer to gas that you buy upstream in Alberta or upstream in various other basins in the United States.

MR. SHORTS:  And have transportation capacity to move that gas.

MR. BRETT:  Right.  Now, the last question in connection with this is, do you -- does -- this says you are buying at Dawn, okay?  But the corollary of that is you don't have transportation capacity in respect of that?  That's held by whoever is selling it to you?

MR. SHORTS:  Correct.  We are just buying it at the market at Dawn.

MR. BRETT:  Okay, fine.  Thanks.  I think those are my questions.  Thanks very much.

MR. MILLAR:  Thank you, Mr. Brett.

We will probably look to break around 11:00 o'clock or so, I would think.  Anyone got about 20 minutes or so?

Or if not -- Dwayne, did you want to go?
Questions by Mr. Quinn:


MR. QUINN:  I think should be less than 20 minutes.  I only have a few areas of questions.

Good morning, panel.  I just want to touch on some questions that I have forwarded to you, and something that came up in some matters yesterday.

Do you have the FRPO questions that were forwarded to Union Gas in front of you?

Okay.  There is Issue D14, in respect of the 2013 gas supply plan.  And the reference was D3, tab 2, schedule 5, page 2.  The question is:

"Please explain the reason for 60,000 GJs of Union Dawn to Union CDA capacity on TCPL."

MR. SHORTS:  Yes.  That capacity, if you refer to IR J.D-14-7-2, page 2 of 2, section (b), as well as the evidence at D1, tab 1, page 14, this all relates to basically the Panhandle trunk line supplies that Union, to keep its obligation at Parkway, moves that capacity, the component to move that gas to Parkway.

MR. QUINN:  So you're interconnecting your Panhandle to obligations you have at Union CDA?

MR. SHORTS:  Back in the early 2000s we had a TransCanada contract that landed at Parkway.  We replaced that with a Panhandle trunk line and other supplies over the years, but we needed to maintain that Parkway obligation, so we contracted for some Dawn-to-Union CDA TransCanada capacity to move that.

MR. QUINN:  I am just curious, though, what customer are you serving at Union CDA?

MR. SHORTS:  That's, again, the system sales customers maintaining their Parkway obligation.

MR. QUINN:  Okay.  I am going to carry on the discussion.  I appreciate the references, Mr. Shorts.  I will look those up later.

But has Union extended this contract?

MR. SHORTS:  That contract evergreens year to year, and we have not given notice to cancel it for November 1 of '12.

MR. QUINN:  So why doesn't Union convert this contract to a Parkway receipt point?

MR. SHORTS:  As I mentioned before, it's essentially moving that gas to the Parkway receipt point.  That's what this contract helps us to do, in addition to the Ojibway-to-Dawn capacity.

MR. QUINN:  So the upshot of that is the system supply portfolio is maintaining a Parkway obligation commensurate with what you require for direct purchase customers?

MR. SHORTS:  For these contracts, yes.

MR. QUINN:  So do you maintain a consistency in your system supply portfolio, that whatever is required of direct purchase customers for Parkway obligations, the system supply portfolio also has to maintain those same levels of Parkway obligation, same proportional Parkway obligation?

MR. SHORTS:  Well, no.  If you look at IGUA Question 6 that they supplied, they had requested a breakout of the Parkway obligation.

So you will see that the 654,370 and the 639,088 of the Parkway obligated deliveries, of that, 90,527 in winter '12, '13, and 90,531 of '13, '14 is the system component of that obligated at Parkway delivery.

MR. QUINN:  You gave me a lot of numbers, Mr. Shorts, and maybe you can tell me:  what is the policy?  Does the system gas portfolio have to maintain a Parkway obligation proportional to what you would require direct purchase customers to maintain?

MR. SHORTS:  Well, it might help to give you a little history on the obligated deliveries at Parkway, just to make -- just to give you some clarity.

If you recall, before deregulation Union had essentially supply contracts predominantly from the Alberta to Ontario, underpinned by TransCanada.  And those contracts were predominantly a Parkway delivery point, which Union had supplied and contracted for to maintain and supply all system customers.

One of the guiding principles of direct purchase has always been that if you leave the system and you go to direct purchase, you need to take on the responsibility of the upstream capacity or assets that were used by the utility to serve you.

So essentially, prior to deregulation everybody was a system customer, so Union was delivering gas to Parkway on behalf of the system.

When deregulation started and the large industrials were the first ones to go, we were -- assigned basically those TransCanada firm contracts to those customers, so it wasn't really a function of -- it was more of a function of when you went direct purchase, as to where your Parkway obligation point was.

So over the years, from the mid '80s through basically 2000, we had displaced all of our FT TransCanada contracts to the direct purchase market.  So with it went that obligation to deliver.

Around 2000, we started to get short on TransCanada FT, and that's when we went into the unbundling proceeding.  We also looked towards vertical slice; that's when vertical slice came in.

Same concept, as well.  Again, vertical slice was part of the portfolio that was serving the customers.  They, then, wanted to go direct purchase, they would take on that responsibility.

Along with the transportation was where that transportation landed.

So if you look at -- over the years, we did actually have a time period around 2000 where we actually did provide some customers some delivery point flexibility.

And we had a short-term return of capacity from TransCanada on M12; we took that 20 percent, gave people the delivery point flexibility of 20 percent, at a cost of $5.5 million that was then layered in through delivery rates.

And basically as the years went by, all of that -- most of that obligation point capacity went to direct purchase customers.

And certainly customers, when we went unbundled, those -- the large customers did not want to have sort of the portfolio rebalanced, if you want to say that.  They wanted their grandfathered obligations kept on TransCanada.

MR. QUINN:  Okay.  That was helpful to have the walk down memory lane, but I guess I'm trying to understand --


MR. MONDROW:  Do you mind if I jump in before we leave memory lane?

MR. QUINN:  I am going to have a follow-up on this, Ian, but before I move into another area I will turn it over to you.

System gas portfolio, what responsibility does the system gas portfolio maintain at Parkway?  Do you have a proportionality, to say if you were going to go direct purchase today and you had to have 80 percent of your deliveries at Parkway, the system gas portfolio must have 80 percent of its deliveries at Parkway also?

MR. SHORTS:  The system portfolio has to essentially balance the entire system, so whatever the shortfall is, potentially the system would have to make that up at Parkway.

MR. QUINN:  What is it currently, then, to be specific?  What percent of your system gas portfolio do you require at Parkway?

MR. SHORTS:  I mentioned before the number was 90,500, roughly.  I just have to make see if I have that percentage or not.

I'd have to get back to you, Dwayne, on that one.

MR. QUINN:  Would you mind doing it as an undertaking?  In the old numbering system, I would have been able to turn up IGUA 6, but we need the full reference.  If you could provide a full reference to IGUA 6 that you were talking about, I will look that up also, and we might be able to put the two numbers together.

MR. MONDROW:  The reference is J.D-18-9-1.

MR. QUINN:  Thanks, Ian.  Before I go on, I'll --


MR. MILLAR:  Just to give that an undertaking number, JT2.4.
UNDERTAKING NO. JT2.4:  TO PROVIDE responsibility of system gas portfolio at Parkway

MR. MONDROW:  Sorry, to derive that percentage, would it just be the 90,500 GJs per day that you mentioned, Mr. Shorts?

Would it just be the 90,500 GJs per day divided into the number on the table in part (c) of that response we have been talking about?  Or divided by the number in the table?

MR. SHORTS:  I'd have to double-check to see what the math would be.

MR. MONDROW:  But the 90,500 GJs per day is a subset of the number in the table; right?  Isn't that what you just said?  The number the table is the total Parkway obligated deliveries for 2012/2013, and I think you said the 90,500 GJs per day is the system supply component of that.

MR. SHORTS:  I don't think that's the question Dwayne asked.  I believe Dwayne asked how much of the system portfolio, not of the total Parkway deliveries.

MR. MONDROW:  Okay.

MR. WOLNIK:  Can I ask a follow-up question as well?  I just want to understand your policy a little bit better on Parkway deliveries.  If I were to, let's say, pick London as an example, if I am an incremental system customer, where you are supplying the gas, and I want to compare that to an incremental industrial customer, there's direct purchase, and I want to understand what you do for system customers versus the direct purchase.  And I take your point, in terms of the need for Union to balance the entire system.

So for an incremental general-service customer, let's say partway down the Dawn-Trafalgar system in London, is it -- would it be true that Union could source the gas at Dawn and provide the amount of Dawn-to-Parkway capacity to the specific delivery point in London?  So in other words, it would just increment the capacity on the Dawn-Trafalgar system just to London.  Is that true?

MR. SHORTS:  I don't know how physically that would be served, but --


MR. WOLNIK:  But assuming you bought the gas at Dawn or someplace upstream of Dawn from the U.S., and the customer is in London.  Would you not have to build incremental capacity?

MR. SHORTS:  It would depend how big the service customer was; right?  I mean, you are talking about a small general service.  We --


MR. WOLNIK:  Fair enough.  But let's aggregate it, and let's say there is enough to require some level of capacity assignment to that customer grouping.  I am just trying to sort of deal with this conceptually, and I guess, just to follow-up on Dwayne's point, a new industrial customer would be required to deliver to Parkway; is that right?  A new customer in London, a new industrial customer wanting to direct-purchase, would have to deliver his gas at Parkway; is that correct?

MR. SHORTS:  If that customer was new to the system and Union hadn't served them previously?

MR. WOLNIK:  Right.

MR. SHORTS:  Yes, their obligation would be -- they would be east of Dawn, and therefore they would be delivering at Parkway.

MR. WOLNIK:  And that for the most part would be a backhaul all or most of the time to London?

MR. SHORTS:  Again, from a physical service perspective I am not sure how gas on a specific day would flow.

MR. WOLNIK:  Jim, what do you think?  Given that -- I think your evidence is that for the majority of the time gas is being exported to Parkway especially in the wintertime -- would you tend to agree?

MR. REDFORD:  I think that's.

MR. WOOD:  I can probably speak to that one.

MR. WOLNIK:  Sorry, I forgot the system guy.

MR. WOOD:  The obligated deliveries help offset the total flow on the Dawn-Parkway system, which in turn reduced the size of the system that we need to move that gas.

MR. WOLNIK:  Right.

MR. WOOD:  That being said, the flows over the last few years have been from Dawn to Parkway and exporting to TCPL.  So the customer's addition -- their obligations at Parkway would just offset the flow requirements on the Dawn-to-Parkway system.

MR. WOLNIK:  So an industrial customer delivering at Parkway, let's say, for this phantom customer in London, would it have -- it would have a system benefit, right, because it's actually delivering the molecules at the end of the system, far past the delivery point at London?

MR. SHORTS:  I would suspect that's probably a rate-design-allocation question.

MR. WOLNIK:  It may be, but I guess what I am trying to get at is, you are getting an extra 100 units for this customer at Parkway, and the system flow in the wintertime is from Dawn to Parkway, but that customer's load comes off at London.  You actually have 100 units of capacity, not only from Dawn to London, but all the way to the end of the system, so there is incremental benefits, system benefits, for that customer delivering to Parkway.

MR. SHORTS:  I know there is distance components in the rates, but actually, John, to tell you the truth, I don't know how that benefit gets put through in rates.

MR. WOLNIK:  So for --


MR. REDFORD:  Mr. Wolnik, but the Parkway obligation too is there.  It's used to help manage builds on the Dawn-Parkway system.  So in your case, where you have somebody come on that's a smaller load, which may not justify a full build of a section on the Dawn Parkway system, that's one of the tools that's used to manage that, is the Parkway obligation.

MR. WOLNIK:  I fully appreciate that, and I am just sort of dealing with costs here.

To make it maybe a more balanced comparison, let's talk about an M7 customer, which I think is a system sales customer; is that right?

MR. SHORTS:  Well, an M7 -- M7?

MR. WOLNIK:  Right.

MR. SHORTS:  Could be a system sales customer, yes.

MR. WOLNIK:  Compared to a T1, which -- so that customer, let's say if it's the appropriate size, could be either an M7 sales or a T1 customer.  Is that...

MR. SHORTS:  They could be M7 sales.  They could be an M7 bundled T customer.  They could be a T1.  They could --


MR. WOLNIK:  Let's take any -- you know, the M7 sales compared to one of the other two, whichever is, in your mind, appropriate.  If it's a system customer, where you are supplying the gas, you could arrange for the gas supply at Dawn or some other U.S. point, delivered to Dawn, and increment the Dawn-Trafalgar facility sufficient to bill to that customer, let's say in London.  Is that a fair point?

MR. SHORTS:  Basically, the demand forecast would be given to the facilities planning group.  They would decide what facilities would be required.

MR. WOLNIK:  Right.  But there would be some measure of facilities allocated on the Dawn-Trafalgar system to serve that customer partway down the Dawn-Trafalgar system to London; is that true?

MR. SHORTS:  Again, that would be sort of a cost allocation rate design.  I just don't know how those --


MR. WOLNIK:  Well, that's a facility issue.  All I am trying to do is say you need capacity.  You need physical capacity to London in this case.

MR. SHORTS:  In that case, yes.

MR. WOLNIK:  Whereas if it was a direct-purchase customer delivering to Parkway, Union doesn't need that capacity.  The customer provides not just the capacity to London, it provides capacity all the way to the end of the system.

MR. SHORTS:  But Union, as the systems sales provider, would look at those options and potentially just deliver that volume at Parkway itself to serve that customer.

MR. WOLNIK:  It could, but I think where Mr. Quinn was going was, he was trying to understand your policy with respect to that, and I am not sure he got an answer to that, and I would be happy to hear that.

If you also, for all system customers, for customers east of Dawn delivered to Parkway, that would be helpful to understand.  If that's not your policy, that too would be helpful to understand.

MR. SHORTS:  Well, again, we -- as the system has to balance off the needs of the entire system, we would throw that into the mix and calculate what would be the best alternative for the system portfolio.

MR. WOLNIK:  So do I assume there is no policy for system customers to be required to deliver or for you to buy their gas and have it delivered to Parkway?

MR. SHORTS:  There is no policy, yes.

MR. WOLNIK:  Okay.  Thanks.

MR. SMITH:  Should we take the break now?
Further Questions by Mr. Ross:


MR. ROSS:  I just have one question, just a clarification, Mr. Shorts, of your memory lane.  Where you used to have contracts on TransCanada from Empress, you mentioned to Parkway, could you clarify whether those contracts would have been to Parkway or to the Union CDA?

MR. SHORTS:  Well, we had contracts in those days that were referred to as CD or ACQ, so we actually had contracts that were also delivered to Dawn, but I don't know exactly whether or not that was -- back then it was referred to as Union CDA or Parkway.  I can't -- I can't tell you that.

MR. ROSS:  Can you confirm that they were actually Empress to Union CDA?

MR. SHORTS:  I think back then in the -- if you look back in history, the contracts originally were bundled.  They were just a supply contract.  They weren't even actually supply and transport.

MR. ROSS:  I am just asking you to confirm that they were actually delivered to the Union CDA.

MR. SHORTS:  Sure, we can answer that.

MR. MILLAR:  Is that an undertaking?

MR. SMITH:  Yes.

MR. MILLAR:  JT2.5.
UNDERTAKING NO. JT2.5:  TO CONFIRM WHETHER THE CONTRACTS WERE DELIVERED TO THE UNION CDA

MR. MILLAR:  Mr. Quinn, did you still have some remaining questions?

MR. QUINN:  I do, but I see we have gone the 20 minutes or so.  Yes, I am comfortable to break right now.  I underestimated the interest that others had in some of the questions, so --


MR. MILLAR:  Do you have more than five minutes left?

MR. QUINN:  Probably.

MR. MILLAR:  Okay.  Why don't we break until 11:15.

MR. QUINN:  Thank you.

--- Recess taken at 11:00 a.m.


--- On resuming at 11:17 a.m.

MR. MILLAR:  Mr. Quinn, are you prepared to continue?

MR. QUINN:  I think myself and a band of others.  Is this working?

MR. SHORTS:  Mr. Quinn, if I could, to Mr. Wolnik's question or scenario, I was thinking about it over the break and if you think about the question, if I got it correct, is that we are talking about an incremental load.

So if you had an incremental load that was a system customer, that would imply we didn't have capacity to serve it.

So from a system portfolio, whether it was some or direct purchase, we would be delivering that volume at Parkway.

MR. WOLNIK:  Could you just explain that?  Why would you be delivering -- what's the requirement for you to deliver at Parkway?

MR. SHORTS:  So if we didn't have -- if it was brand new customer and we didn't have capacity on the Dawn-to-Parkway system -- which we don't today, excess -- then we would, obviously, as the system portfolio deliver that volume to serve that customer at Parkway.

MR. WOLNIK:  So a direct purchase customer, would they have -- my understanding is a direct purchase customer, once you obligated at Parkway, that kind of carries on forever; is that right?

MR. SHORTS:  That customer would be obligated at Parkway.  How they met that obligation, it is up to them, yes.

MR. WOLNIK:  I understand.  So for the system customer that you are now delivering, let's say, in year 1 to Parkway, because you have no capacity, would that also be true for sort of forever, that you would also deliver to that location?  Or would you have the flexibility, if capacity was available on the Dawn-to-Parkway system, to deliver in some other fashion?

MR. SHORTS:  There could be that possibility over time.

MR. WOLNIK:  Okay.  Thanks.

MR. QUINN:  That might be a nice segue back into where some of this was going initially.

I think, Mr. Shorts, you provided an evolution of how transportation was affected down to the Union south franchise.  And I think maybe it would be helpful -- and this could be done in addition to the undertaking you have already taken or as a separate undertaking -- but you are going to work out the proportional amount of system gas that is delivered at Parkway today.

MR. SHORTS:  Mr. Quinn, I actually have that number.

MR. QUINN:  Before you provide the number, I want to enhance what I am asking, so that we see the evolution over time as opposed to this being numbers we can't really deal with.

You had referenced a time when you went to vertical slice, because you had given -- you had already allocated out all the transport capacity to Parkway, so you went to vertical slice.  That was around 2000, I think you said?

MR. SHORTS:  It was around that time period, yes.

MR. QUINN:  If you could find out what that date was, and at that date what was the proportion of system gas delivered at Parkway for that year, and then compare it to what you are doing now, we will see the evolution over time as to how the Parkway obligation for system gas has evolved.

MR. SMITH:  We will consider that.  I am not going to give an undertaking to do it.

MR. QUINN:  What we heard is that they don't have -- you don't have a policy.

And so we are trying to say:  Okay, if you don't have a policy, how is it being managed?  And to see, as Mr. Shorts did, there is a number of market dynamics and pipeline changes have occurred over time.

We are just saying show us two points in history, and that will demonstrate to us how the system gas portfolio is providing that balancing of the system in terms of making sure the Parkway commitment is met.

MR. SMITH:  I understand your request, and I have indicated we will consider it.

MR. QUINN:  Okay.  Well, I trust that we will walk through that when we need to.

Okay.  I am going to shift gears, then, to a different area, and I think it will be just helpful if you would turn up -- it's actually -- some of our IRs were directed to TransCanada.

So if you look at J.C-4-7-10, if you can pull that up, please?

MR. SMITH:  J.C-4-7-10?

MR. QUINN:  Yes.  There is two attachments, and I am going to start with attachment 1.

So you have that?

MR. SHORTS:  Yes, we have that.

MR. QUINN:  Attachment 1 shows the amount of capacity Union has assigned to counterparties.  And I am going to focus specifically, just for understanding purposes, on Empress-to-Eastern zone, and I want to understand the cost of this capacity.

Now, attachment 2 does give 100 percent load factor toll, but I don't think we need to do the math.  All I am trying to clarify is if my understanding of this is correct.

My understanding would be that the cost of the demand charge for the capacity that is -- the cost of -- sorry, let me start again.

The cost of the demand charge for the capacity to the eastern zone would be allocated to the transportation account for recovery from Union's transportation customers; is that correct?

MR. SHORTS:  Mr. Quinn, I am not really familiar with this IR, so I would have to take that as an undertaking.

MR. SMITH:  Well, I will give the undertakings.

Why don't we hold the question?  I understand Mr. Tetreault may be able to help us.  He is up next.

MR. QUINN:  Okay.  I will stay away from the costs, Mr. Smith.

This is, as I understand, the panel that does the capacity planning, you know, what your customers are needing, and then you plan your capacities.

Do I have this panel correct?

MR. SMITH:  Yes.  I had understood your question to be a costs-related question.

MR. QUINN:  You are right, and I did delve into costs, and I can reserve some of that for Mr. Tetreault later, but let me just ask the capacity question.

So you have a -- putting aside the amount of time we spend on Parkway obligations, you also have customers in the east, and so that's why you hold Empress-to-Eastern zone capacity?

MR. SHORTS:  We have system customers in the EDA.

MR. QUINN:  Would you know for this last winter, winter '11 and '12, what -- total amount of Empress-to-Eastern zone capacity that Union held?

MR. SHORTS:  I don't have that information with me.  Because you are talking eastern zone?

MR. QUINN:  Yes.

MR. SHORTS:  That's broader than just, say, the EDA, so...

MR. QUINN:  Would you be able, by way of undertaking, then, to provide -- I am not going to ask for the five years at this point, but let's just go for winter of 2011, 2012, what was the total capacity that Union held to the eastern zone.

MR. SHORTS:  Sure.

MR. SMITH:  Yes, we will provide that.

MR. MILLAR:  JT2.6.
UNDERTAKING NO. JT2.6:  to PROVIDE TOTAL UNION CAPACITY TO EASTERN ZONE, WINTER 2011, 2012

MR. QUINN:  I am just previewing my questions, and I think what I will do is I think I can ask the costs questions to that panel, and I don't know that I need to take any more time with this panel.


So those are my questions, Mr. Millar.  Thank you.

MR. MILLAR:  Thank you.

Who is next?

Mr. Viraney just has one or two questions, so perhaps he will go.
Questions by Mr. Viraney:


MR. VIRANEY:  I just have a question on the loss of critical unit.

Essentially, it's a spare unit that protects against compression failure; correct?

MR. WOOD:  Correct.

MR. VIRANEY:  So this spare unit that you're planning, does it provide protection for the same amount of compression power, or is that different?

MR. WOOD:  It would provide protection for the largest block of existing horsepower at Parkway, which is the B unit.

MR. VIRANEY:  And that would be like --


MR. WOOD:  47,000 horsepower.

MR. VIRANEY:  Okay.  Thanks a lot.  That's all.

Questions by Mr. Wolnik:


MR. WOLNIK:  I just have a few questions.  Most of my questions have been answered already.


APPrO had submitted a few questions for follow-up here, and I just wanted to better understand the -- sort of the rationale behind the LCU unit itself.

I had asked in the original IR, which I think was J.B-1-13-4, whether Union had done a risk analysis, a comprehensive risk analysis of the need for this, and I think the response was no, they hadn't.

And I got the sense this was more just a general policy issue; is that fair?

MR. SMITH:  Can you give me the reference, Mr. Wolnik, to your interrogatory?

MR. WOLNIK:  I should be able to.  That was -- so J.B-1-13-4.  And that would be D(2).  The response is:

"Union has not performed a full engineering risk assessment of the potential for failures at the existing Parkway compressor station."

MR. REDFORD:  That's correct.

MR. WOLNIK:  So the LCU -- so building LCU, I take it, is more of a policy issue, as opposed to a risk-based need?

MR. REDFORD:  No, our plan is to complete a risk assessment, and that would be done before the leave-to-construct application, that type of timing.

MR. WOLNIK:  Okay.  So that would be part of that application.  Okay.

One of the questions I'd also asked was for the types of failures that have occurred in the last several years, and you didn't respond to that question.  Do you have any
-- and I resubmitted it as a clarifying question.  Do you have any information you can share with us at this time about the number of failures of either Parkway A or B that have occurred in the last three years where the system was within 10 percent of a design day?

MR. SMITH:  Sorry, I missed the reference again, Mr. Wolnik.

MR. WOLNIK:  It's the same IR, so J.B-1-13 --


MR. SMITH:  No, I have that.  Which sub-part?

MR. WOLNIK:  C.

MR. WOOD:  There were no unexpected failures in the last three years when flows were within 10 percent of design day.

MR. WOLNIK:  When you say "expected" --


MR. WOOD:  Unexpected, sorry.

MR. WOLNIK:  Unexpected.  So what's -- okay.  Thank you.

And one -- another question -- part of this -- part of the requirement was for reliability to the GTA and Enbridge, and I understand that they are a large -- they're a very large customer which you provide and transport significant volumes, but as we talked earlier, deliveries into the Lisgar system really aren't effected by an LCU failure at Parkway, but I do understand they still contract for a lot of M12 capacity that you deliver to TransCanada on their behalf, and then they presumably transport it from -- on TransCanada from that location from your interconnect with TransCanada to another delivery point that they would have on their TransCanada system, whether that be Victoria Square or one of the other many delivery points they have off the TransCanada system.

So I understand that if your system fails that deliveries into TransCanada would also fail that could affect subsequent deliveries into Enbridge's system.

But my question is, in the event that TransCanada were to come up with an alternative, a reliability alternative, because it's in their system, would you agree that they could meet that LCU need if they came up with one?

MR. REDFORD:  I have not reviewed TransCanada's responses to our IRs yet, so I couldn't comment on whether that's possible or not.

MR. WOLNIK:  Are you familiar with their SNB service?  I know Mr. Shorts would be very familiar with it, but -- from another role, but --


MR. REDFORD:  Just somewhat.

MR. WOLNIK:  Okay.  So it's a park-and-loan service that could replace shortfalls in the system or it could meet a demand in the system based on a park-and-loan arrangement.  Mr. Shorts, would you agree with that?

MR. SHORTS:  It's been a long time since I've looked at the SNB service.  I couldn't comment.

MR. WOLNIK:  Okay.  But -- that's fine.

MR. QUINN:  John, before you leave the IR, I did have a follow-up if I may.

MR. WOLNIK:  Sure.

MR. QUINN:  I'm just trying to make sure I understand correctly.  In answer to Mr. Wolnik's question he asked about a risk assessment, and I thought I heard Mr. Redford say that that risk assessment would be done before the leave-to-construct application.  Did I hear that correctly?

MR. REDFORD:  Yes, I think that's the timing that we are looking at.

MR. QUINN:  But I also thought I understood in answer to Mr. Ross this morning that you can build the Parkway West compressor without a leave-to-construct application.

MR. REDFORD:  Correct.

MR. QUINN:  So help me with understanding that you are going to do a risk analysis before leave-to-construct application, but we won't see a leave-to-construct application.

MR. REDFORD:  Whether that information is filed as part of that application remains to be seen.  But there will be a description of the entire project, so to speak, as part of that application.  So there will be a description of Parkway West, the Parkway West project, the Parkway West site.  There will be a description of the valve site that's at the Trafalgar's, as well as the pipelines that we are asking for approval of.

MR. QUINN:  So that's really into the pipeline leave-to-construct, but you could build the Parkway compressor without the pipe.

MR. REDFORD:  We'd have nothing to feed it, though.  Again, those pipeline headers are required to feed the LCU compressor.

MR. QUINN:  Okay.  So if I am understanding, you will need to get a leave-to-construct application just for the headers?

MR. REDFORD:  Just for the pipeline between the Parkway -- the Dawn-Parkway valve site and the Parkway West property.

MR. QUINN:  Okay.  So then we would see the risk assessment at that time.

MR. REDFORD:  Well, I think whether we file that --


MR. SMITH:  We are not going to commit to filing information in -- we are not going to commit to the content of the filing, Mr. Quinn, if that's your question.

MR. QUINN:  Okay.  Well, I am trying to understand.  We have already heard this morning that, although the security supply to consumers in Lisgar was one of the reasons you wanted to have this compressor, and now it seems that that's not necessary -- we are just trying to understand this in the greater context of, why would this facility be built and who is going to pay for it, and we just, we want to make sure that we have an opportunity to assess that before shovels are in the ground, and it sounds like we will have that opportunity.

MR. SMITH:  You will have an opportunity.

MR. QUINN:  Okay.  Thank you.

MR. WOLNIK:  I had a question yesterday on integrity space for the prior panel, and they punted it to panel 3.  So I assume this is the right panel to ask this question. And it was in reference to J.D-16-13-1 --


MR. SMITH:  I'm sorry, J.D?

MR. WOLNIK:  13-1.  And this would be my question 4 that I had submitted.  J.D as in Dawn, 16-13-1.  And in (b)(iii) Union had indicated that increased integrity space was required because of a change in modelling assumptions.


Have you got that yet?

MR. REDFORD:  What part was that, Mr. Wolnik?

MR. WOLNIK:  (b)(iii).

MR. SMITH:  I must be confused.  J.D-16 -- oh, I am sorry, yes I am confused.  Okay.

MR. REDFORD:  Yeah, I am not sure anybody on this panel can actually answer a question around that.  That appears to be more for Mr. Faye.

MR. WOLNIK:  Panel 2 suggested it was this panel, so is there --


MR. SMITH:  The actual exchange was, you suggested it was for Mr. Faye and clearly believed Mr. Faye was going to be on this panel, but he is not.  But we will answer your question by way of undertaking.

MR. WOLNIK:  That would be great.  Thank you.

MR. MILLAR:  JT2.7.  Could we have the question repeated?

MR. WOLNIK:  It's in the written clarifying questions.  So it's question number 4, and there is probably -- there are two or three questions there.  It may be easier just for them to refer to the written submission.

MR. MILLAR:  Okay.  Thank you.

MR. SMITH:  That's fine.
UNDERTAKING NO. JT2.7:  TO PROVIDE a response to APPrO Techinical Conference question No. 4 reF J.D-16-13-1

MR. MONDROW:  Thanks, gentleman.  Sorry, Mr. Shorts, for calling you Mr. Schultz earlier.  I apologize.

MR. SHORTS:  That's no problem.



MR. MONDROW:  I've got a new iPad here, and I -- because Crawford inspired me, but I'm neither as sharp nor as tech-savvy as him, so you're going to have to bear with my confusion, but I'm going to try to follow through.  I think I am all set.

And I did send in some questions earlier, so I will go generally in that order if that's okay with you.  And I think the first topic, really, the IR -- I think we can deal with this in reference to interrogatory J.B-1-7-9, but it may be easier, for the purposes of these questions, given what was asked earlier, to go back to the exhibit, which is Exhibit B1, tab 9, which is the Parkway West extension exhibit.  I just want to make sure I am understanding this correctly.

Do you that exhibit?

MR. REDFORD:  I have that.

MR. MONDROW:  Okay.  Thanks.

As I understand it, there are three discrete projects or capital investments addressed in this exhibit.

The first has to do with loss of critical unit coverage for the Parkway TCPL discharge, the second has to do with metering and header equipment for supplying Enbridge, and the third is the Parkway extension; is that right?

MR. REDFORD:  The Parkway West project is just the LCU, as well as the second feed to Enbridge.

MR. MONDROW:  All right.  You said earlier that for the Parkway extension there is no revenue requirement impact in 2013; correct?

MR. REDFORD:  For the Parkway West project.

MR. MONDROW:  Okay.  So for the Parkway West project?

So for the Parkway extension that's true, as well?  In fact, you are not even sure you are going to proceed with it?  It's just an open season stage?

MR. REDFORD:  Correct.

MR. MONDROW:  So for the Parkway West project, those two components -- the loss of critical unit and the Enbridge discharge-related work -- there is no revenue requirement impact in 2013; is that right?

MR. REDFORD:  That's my understanding.

MR. MONDROW:  Okay.  And -- but you filed information on those projects because they are included in your 2013 capital budget, and the filing guidelines require you to provide information, Mr. Smith?

MR. SMITH:  Correct.

MR. MONDROW:  So there are no approvals sought with respect to either of those two components of the Parkway West project?

MR. SMITH:  Correct.

MR. MONDROW:  Then if we can, I will refer back, then, to the interrogatory, which is J.B-1-7-9.

MR. REDFORD:  I have that.

MR. MONDROW:  And I look at the response to part (c) of that interrogatory.  In response to the question, it talks about:

"The new interconnect near the Union Gas Parkway compressor station associated with the Parkway extension project is not the same as the new interconnect to the EGD system..."

As described in the exhibit that we were just looking at.

So the first of those two interconnects, the new interconnect near the Union Gas Parkway compressor station, that has to do with the Parkway extension project, which is not included in your capital budget for 2013; is that right?

MR. REDFORD:  That's correct.  The new interconnect near the Union Gas Parkway compressor station was the description in the open season itself.

That is not part of the Parkway West project.

MR. MONDROW:  Okay.  That's very helpful.  Thank you.

And then the two capital projects that are part of the Parkway West capital budget item -- that are the Parkway West capital budget items, they are not connected with the Parkway extension project at all?

MR. REDFORD:  No.  The second feed to Enbridge would be a -- would be a second feed to Enbridge.  It would cover the Parkway Cons volumes, and potentially the Lisgar volumes.

The LCU is intended to cover Parkway A and B, or an outage at either Parkway A or B at this point.

MR. MONDROW:  So neither the LCU work nor the Enbridge feed work would be used in connection with the Parkway extension, were it to proceed?

MR. REDFORD:  The only way that it might be used is if the Parkway extension project connected into the Parkway West site, you could move gas up to that point through the headers, like through the pipelines that go up to the property.

MR. MONDROW:  Right.

MR. REDFORD:  And you know, if there is compression required as part of the Parkway extension project, it could be covered by that LCU, as well.

But that design is -- we haven't done those designs.  We are still in the midst of open season, but that's possible.

MR. MONDROW:  So you would do these two capital projects despite the Parkway extension?

MR. REDFORD:  Yes, we would -- the LCU and the second feed to Enbridge are required regardless of whether the Parkway extension project goes.

Our belief is that either the Parkway extension project is going to get built, or TransCanada will expand through that Parkway-to-Maple path, but more volume will eventually pass through that area.

MR. MONDROW:  All right.  That's helpful.  Thank you.

And then we asked in the questions I forwarded one question about the open season, and the document connected to this interrogatory response we have been talking about.

As I understand it, in that open season there is capacity from Dawn to Parkway that's included in that open season.  Is that capacity existing, or is that an open season in respect of proposed new Dawn-to-Parkway capacity?

MR. REDFORD:  It would likely be both.  It would be potentially some existing capacity, as well as some new capacity.

Of course it would be for either a 2014 or a 2015 start date.

MR. MONDROW:  Can you tell me how much would be associated with the existing facilities and how much would require a new build?

MR. REDFORD:  Well, I don't know if we even looked at that as a separate piece.  It would -- really, it would depend on what the conditions were at 2014.

MR. MONDROW:  Sorry, I am just looking at this open season document.  Did you not have the amount of capacity available published in the document?

MR. REDFORD:  We said we would offer --


MR. MONDROW:  Sorry, the amount you are offering; that's a better term.

MR. REDFORD:  Yes.  In attachment 3 to J.B-1-7-9, if you go to page 3 under "Proposed services" we said that we would look at a maximum receipt capacity for new contracts originating from Dawn of up to 800 TJs a day or 800,000 GJs a day.

MR. MONDROW:  So you don't know how much of the 800,000 GJ a day would require new capacity, versus could be served with the existing capacity?

MR. REDFORD:  As far as -- I mean, we could look at today's 2014 forecast as to what we might think we may have if we have any excess capacity, but we have -- a lot of things will happen between now and 2014, including turn-back, new capacity requests.

So it's hard for me to give you a definitive answer as to exactly how much is existing capacity, as that would really depend on circumstances.

MR. MONDROW:  Okay.  Fair enough.  Thanks.

The next set of questions I sent around had to do with Interrogatory J.D-18-9-1.  And one of the things that we actually asked for was a map of your system of your franchise, that could help me, at least, and perhaps others, visually understand where customers locate -- customers located in various places are served.

Is there a map in the evidence that you can refer me to, or do you have one that you brought?

MR. WOOD:  I believe the map you may be asking for is in Exhibit A1, tab 8, schedule 1 and 2.

MR. MONDROW:  Do you have an extra copy of that, by any chance?  Or you could wait for me to try and pull it up?

MR. WOLNIK:  Sorry, I don't have an extra copy.

MR. MONDROW:  Okay.  Why don't I proceed with the questions, and then I will pull up the map when the next person's questioning, and if I have any follow-up I will come back to it.  Maybe that's the best way to do it.

I will try not to repeat what was asked before, obviously, but I guess the first question has to do with customers that are physically located west of Dawn who, as I understand it, are served off something called the Sarnia system.  Could you explain that a little bit, what the Sarnia system is?

MR. SHORTS:  West of Dawn could refer to Sarnia system.  It could also refer to our Panhandle system between Windsor and Dawn.

MR. MONDROW:  So is it fair to assume that customers physically located west of Dawn are served off of one of those two systems?  They would have to be, wouldn't they, if they were in your franchise?

MR. WOOD:  That's a fair assumption.

MR. MONDROW:  And clearly customers served off of one or both of those systems have nothing -- don't use any capacity east of Dawn, because they are not located east of Dawn physically.

MR. WOOD:  Physically they do not use capacity east of Dawn.

MR. MONDROW:  Okay.  So if a new customer comes along in that area, where are they obligated to deliver to you?  Do they have an option, or do you tell them?

MR. SHORTS:  They have an option.  They can either deliver at Dawn or at Parkway.

MR. MONDROW:  Okay.  And an existing customer that currently delivers at Parkway that is located west of Dawn, do they have to keep delivering at Parkway?

MR. SHORTS:  Yes, they do.

MR. MONDROW:  And why is that?

MR. SHORTS:  If you look at the interrelationship between the service to the customers, you will find that all of the south in-franchise customers receive a benefit of those deliveries being at Parkway, so their in-franchise delivery rates for everybody in Union south are lower than they otherwise would be.

So if those customers move their obligation point from Parkway to Dawn, say, for example, Union would then have to get incremental Dawn-to-Parkway capacity to serve those overall needs of the system, and therefore delivery rates for everyone would go up.

MR. MONDROW:  So the customers on the Sarnia system and the Panhandle system, they pay in their delivery rates costs associated with the Dawn-to-Parkway portion of your system?

MR. SHORTS:  They get -- certainly delivery rates are lower than they otherwise would be.

MR. MONDROW:  That's not what I asked.  I asked whether the customers west of -- served by the Sarnia system or the Panhandle system pay in their delivery rates costs associated with your system east of Dawn.

MR. SHORTS:  Yes, I believe so.

MR. MONDROW:  Okay.  So I am just looking through my questions so I don't repeat myself or anyone else.

In part (c) to response to J.D-18-9-1 there is a table which provides the Parkway obligated deliveries for two seasons, winter 2012/2013 and winter 2013/204, and Mr. Shorts, I think in an earlier response, if I understood you correctly, you addressed one of our follow-up questions, which was, how much of the winter 2012/2013 volumes are delivered by Union to Parkway on behalf of its system customers.  And I think you said of that number in the first row of that table 90,500 GJs a day would be Union deliveries to Parkway on behalf of system supply customers; is that right?

MR. SHORTS:  I think it was 90,527.

MR. MONDROW:  Ah, thank you.  That changes everything.

And in respect of winter 2013/2014, is it a kind of similar proportion?

MR. SHORTS:  Yes.

MR. MONDROW:  Okay.  Do you have that number, by any chance?

MR. SHORTS:  90,531.

MR. MONDROW:  Thank you.

And is it fair to assume that that number is determined after you take your total Parkway delivery requirement to serve your customers and you subtract from that what your Parkway obligated direct-purchase customers have to deliver there, and then the balance is what you deliver there?  Is that the way you do it?

MR. SHORTS:  It's very much, when you look at the modelling, the plan would assume that the current obligations would continue to be met by those direct-purchase customers, and any shortfall that the system would have, they would have to fulfil that obligation at Parkway.

MR. MONDROW:  Okay.  That's helpful.

Okay.  Then I just want to look for a minute at part (d) to the response to this same interrogatory, J.D-18-9-1, where we asked you about the impact of customers currently obligated to deliver at Parkway, if they didn't deliver at Parkway what the impact would be, and in the second paragraph -- well, the second paragraph says:

"The facilities required vary depending on the amount of available capacity and future growth of the Dawn-Parkway demands."

This is the amount of facilities in the event the Parkway obligations weren't obligated, as I understand the response.  And the next sentence says:

"If sufficient Dawn-Parkway capacity were available to permanently eliminate the Parkway obligation, there would be no change in rate base."

And I am assuming that sufficient Dawn-Parkway capacity is not so available now.

MR. SHORTS:  That's correct.

MR. MONDROW:  And I think in another response -- and I am sorry I don't have it handy, but Union did provide for winter of 2012/2013 -- sorry, 2013/2014 the amount of capacity available, but said that you were going to use that capacity in your planning to replace delivered peaking supplies at Parkway.  Do you recall that?

MR. WOOD:  I have the -- in my evidence, which is Exhibit B-1, tab 5, I do list the excess capacity on the system forecast for 2013/2014.

MR. MONDROW:  And am I correct in my recollection that your plan is to use that excess capacity to replace peaking delivered supplies at Parkway?

MR. SHORTS:  Yes.

MR. WOLNIK:  Can I just ask a clarifying question while you are writing that down?  In response to 18-9 – J.D-18-9-1, at the top of page 3 you provide a revenue-requirement estimate to replace the capacity.  And I think it's in the range of 30 to $60 million annually.  And I know there is some excess capacity between Dawn and Kirkwall.

Does this capacity estimate take into account that surplus capacity that's there now, or does this estimate assume you would have to build new facilities from Dawn to Parkway in its entirety?

MR. WOOD:  The current forecast for this winter for Dawn to Parkway is a system surplus of 30,000 GJs, roughly 30,000 GJs.  This original assumption was based on replacing the entire obligated deliveries, so it would not take into account that 30,000 GJs of surplus.

MR. WOLNIK:  That's helpful.  My question was a little bit different, though, because I just wanted to understand, if you did have to replace the capacity, I understand because of some contract non-renewals from Dawn to Kirkwall, that's leaving some empty capacity there in the future, and maybe today, I think, in fact.

So I am just trying to understand, if you were to replace this capacity, based on this surplus capacity that exists between Dawn and Kirkwall, it looks like incrementally you would only have to build capacity from Kirkwall to Parkway; is that correct?

MR. REDFORD:  Some of that Dawn-Kirkwall capacity that was turned back was recontracted as Dawn-Parkway capacity, so not all of that that got turned back is available.  A lot of that got recontracted.

MR. WOLNIK:  There is some capacity available, though.  Is that true?

MR. WOOD:  Yes.

MR. WOLNIK:  I thought it was in excess of a PJ a day, or maybe projected to be in excess of a PJ a day.

MR. WOOD:  Sorry, is there is a reference?  Do you have a reference for that?  I'm just --


MR. WOLNIK:  I don't.  I just recall it in the evidence that there was a fair bit of surplus Dawn-to-Kirkwall capacity that was not being renewed because of some M12 contracts that weren't renewed.

I can maybe deal with this a separate way.  Can you just describe the assumptions that were included in coming up with that revenue requirement?  Maybe that's easier.  What capacity assumptions or expansion assumptions did you include in that revenue requirement?

MR. WOOD:  The assumptions were that we would have to replace Dawn-to-Parkway capacity of the full obligated delivery volume.

MR. WOLNIK:  So you would add -- if it's in the order of about 600,000 GJs a day, you would build incremental capacity of 600,000 GJs a day from -- assuming that no existing capacity existed?

MR. WOOD:  Correct.

MR. WOLNIK:  I wonder if you could update that estimate based on whatever surplus capacity is available today from Dawn to Kirkwall?

MR. SMITH:  Just one minute.


MR. WOOD:  There is a response in J.C-4-10-3 that speaks to the capacity for winter '12, '13 and winter '13, '14.  In winter '12, '13, the Dawn-to-Kirkwall capacity is very close to the Dawn-to-Parkway surplus, which is –- Dawn-to-Kirkwall is 33,600.  Dawn-to-Parkway is 30,798.

MR. WOLNIK:  And '13, '14 would be?

MR. WOOD:  '13, '14, the numbers, Dawn-to-Kirkwall is 262,000, and Dawn-to-Parkway is 209,000.

Just to note, those numbers aren't cumulative.  Selling capacity on Dawn-to-Kirkwall will reduce the capacity on the Dawn-to-Parkway system.

Does that answer your question?

MR. WOLNIK:  So is the -- to confirm, then, your revenue requirements estimates, then, how do they deal with this capacity excess, I guess, the surplus capacity?

MR. WOOD:  The initial estimates were used based on existing capacity, current capacity.

That being said, the expansion on the system are fairly lumpy in volume, and it may -- even if the amount that needs to be replaced in is in the order of 300 to 400,000 TJs, it would still require a similar build, although we would potentially have excess capacity at that point.

MR. WOLNIK:  It could be less, then?  So these revenue requirements could be less if you took into account the surplus capacity, the future surplus capacity on the system?

MR. WOOD:  That's possible.

MR. WOLNIK:  Thanks.  That's good.


MR. MONDROW:  Can I step back for a minute to the policy for who has to deliver to Parkway?

As I understand it, new customers west of Dawn don't, but old customers west of Dawn continue their historical delivery obligations.

Why wouldn't you obligate new customers west of Dawn, who benefit from these delivery rate reductions or avoided costs that you are talking about, to contribute to the Parkway delivery requirements?

I don't understand that.

So you have got two customers located side by side in Sarnia; one has been a customer for a long time, and they deliver to Parkway because they always have and you won't let them deliver anywhere else, and then a new plant comes and sets up across the street and they get to deliver at Dawn.

Why wouldn't you get the new customer to share the burden or the responsibility of Parkway delivery?

MR. SHORTS:  Essentially, when that new customer comes on, as it being an incremental load, we were looking upon it as not either impaling or -- impairing or to benefit the existing customers.

So delivering where they were would have essentially no impact, by delivering close to where their plant is located in that situation.

MR. MONDROW:  No impact on the existing customers?

MR. SHORTS:  Yes.

MR. MONDROW:  But it's cheaper for them to deliver at Dawn than to deliver at Parkway, isn't it?

MR. SHORTS:  It could be.  It depends on the market and depends on the time.  We have had times in which it has certainly been the other way around.

MR. MONDROW:  They could choose either delivery point, though?

MR. SHORTS:  And they could choose.  Yes, that's correct.

MR. MONDROW:  All right.  We will pursue that another time.


Did I understand you to earlier say -- I think this might have been you, Mr. Wood -- that what you generally observe now is that flows of gas from Dawn to Parkway continue to flow off onto the TCPL system and further downstream?

MR. WOOD:  That's correct.

MR. MONDROW:  That's been the flow pattern the last few years?

MR. WOOD:  Correct.

MR. MONDROW:  And when that happens, when gas leaves Parkway and goes onto the TCPL system, that gas doesn't serve your in-franchise customers, does it?

MR. WOOD:  There are some compressed volumes that will serve our CDA area, so the Burlington-Oakville area.

MR. MONDROW:  Is there somewhere in the evidence where the amount of those volumes is specified?

MR. WOOD:  I am not aware of the location in the evidence where those are specified.

MR. MONDROW:  Can we get those volumes on an annualized basis?  That is, the proportion of the volumes leaving Parkway on an annualized basis, that serve those in-franchise customers?

MR. SMITH:  Yes, we can do that.

MR. MONDROW:  Thanks.

MR. MILLAR:  JT2.8.

UNDERTAKING NO. JT2.8:  to PROVIDE PROPORTION OF THE VOLUMES LEAVING PARKWAY ON AN ANNUALIZED BASIS, THAT SERVE IN-FRANCHISE CUSTOMERS.

MR. MONDROW:  And so just one follow-up on -- did you want to add something to that?

MR. SHORTS:  No, I was just going to say that once volumes leave into the TransCanada system, those volumes could potentially also serve in-franchise EDA customers, eastern delivery area customers.

We don't know the physical flow of where it goes once it hits the TransCanada system.

MR. MONDROW:  But it would be fair to conclude that any -- that ex-franchise customers or customers downstream of Parkway benefit from these cost savings that you say your in-franchise customers benefit from because of the Parkway obligated delivery?

So in other words, those cost savings also benefit your ex-franchise customers?

MR. SHORTS:  In rates, that benefit is pretty much all to the in-franchise customers.  They are the ones that get the full benefit of not having to build that incremental capacity.

MR. MONDROW:  Sorry, you ex-franchise customers pay for the capacity used on the Dawn-Parkway system to flow the gas to them, don't they?

MR. SHORTS:  Those customers would have Dawn-to-Parkway M12 contracts.

MR. MONDROW:  Right, and M12 is based on the costs of that Dawn to Parkway system, isn't it?

MR. SHORTS:  Yes.

MR. MONDROW:  So if you have to expand that system those costs are going to go up, aren't they?

MR. SHORTS:  The overall costs could go up, it could go down, depending on what the incremental costs of facilities being rolled into that rate would be.

MR. MONDROW:  Well, the overall cost goes up, but the unit rate may go up or down?

MR. SHORTS:  It's possible.

MR. MONDROW:  But you talked about benefits of avoiding Dawn-Parkway Construction to serve in-franchise customers.

Those same benefits accrue to your ex-franchise customers, don't they?

MR. SHORTS:  All we said is that if we had to eliminate that Parkway obligation of 650,000 or whatever ultimately that number would be, those costs, because the benefit is flowing -- of that is flowing to those in-franchise customers, the costs would have to go to those in-franchise customers, as well?

MR. MONTEIRO:  Don't the benefits flow to the ex-franchise customers, as well?

MR. SMITH:  This may be a better area for Mr. Tetreault to respond to.

MR. MONDROW:  Okay.  Just one more clarification –- well, two clarifications on the same interrogatory,

J.D-18-9-1.

In response to part (d), there is a statement that says -- and still we are talking about the Parkway delivery and removal of those and the consequences of that, and you say in part (d), the last sentence in the first paragraph:

"The removal of east end deliveries at Parkway will increase the volume of gas compressed at Parkway, and may impact the capacity of TCPL's system."

Can someone explain to me what that means, physically?

MR. WOOD:  Sure.  I can.

Obligated deliveries are required at the discharge side of Parkway; that's where they are delivered to.

By removing those obligated deliveries, not only are we flowing on the Dawn-to-Parkway path, those volumes, but they need to go through compression, as well.

And that would increase the total volume going through Parkway compression.

MR. MONDROW:  I see.  Okay.  I think I understand that.

Is there a cost impact of that to your customers?

MR. WOOD:  If the volumes through the compression got to the point where it exceeded the capacity of those compressors currently and we would need to build, then there could be an impact.

MR. MONDROW:  Do you have a lot of excess room on those compressors right now?

MR. WOOD:  Currently we have about 400,000 TJs of excess capacity.  That capacity may be used up with the recent expansion -- or the upcoming expansion on TCPL's system.  We are not sure.

MR. MONDROW:  Okay.  Thanks.


MR. BRETT:  Just one short follow-up.

You said that the obligated deliveries go to the discharge side at Parkway.  So does that mean they go directly into TransCanada, or is that still your pipe from the discharge side up to -- there is a piece of Union pipe from the discharge side of the compressors to the TransCanada connection?

MR. WOOD:  It's a difficult question to answer, because physically, although those obligated deliveries are required at the discharge side of Parkway, they essentially offset the flows we are putting through Parkway.  Does that...

MR. BRETT:  They offset the flows you are putting through Parkway...

Yes, let me just -- just on that, the -- where do they come in -- where do they actually go physically? I mean, where does the -- I guess discharge -- I guess obligations to Parkway is a sort of a legal concept.  You don't define -- do you define exactly where it's supposed to go physically?  Does it actually come into -- does it, like, does it come into the header at -- your station header there before compression, or does it come into the TransCanada facility?  Does TransCanada take custody immediately on the discharge side of the compressor at Parkway?

MR. WOOD:  After the discharge of the compressor we have the custody transfer -- TCPL, excuse me, has the custody transfer.

MR. BRETT:  There is no Union pipe on the other side of the compressor.

MR. WOOD:  No.

MR. BRETT:  So would you give me that answer again then?  So am I right in saying it really goes to -- the obligation to deliver gas and the gas physically goes into the TransCanada pipe?

MR. WOOD:  I am not sure how those volumes are nominated, but we are flowing gas from the Dawn-to-Parkway system into TransCanada's pipe.  The obligated deliveries reduce that volume.  Union doesn't necessarily know exactly where all those volumes are coming from.  They may be in that offset of the volumes flowing east.

MR. BRETT:  So you mean, for example, some of those volumes may actually be delivered east of Parkway?

MR. WOOD:  I think we are talking physically versus contractually.

MR. BRETT:  Okay.

MR. WOOD:  Physically, those volumes may be used to offset flow, and they may not physically arrive at -- immediately at the Parkway district.

MR. BRETT:  They could be anywhere along the system, beyond Parkway, or this side of Parkway, for that matter -- beyond Parkway.

MR. WOOD:  Beyond Parkway.

MR. BRETT:  Okay.  But contractually, the contract point is Parkway.

MR. WOOD:  Correct.

MR. QUINN:  Parkway discharge?

MR. WOOD:  Parkway discharge.

MR. QUINN:  Thanks.

MR. BRETT:  Okay.  Thank you.

MR. MONDROW:  Last question on this interrogatory

J.D-18-9-1.  In part (g) -- and I realize now not this much time has passed, but I sent you the question, so just in case you have an answer I will ask it.

In part (g) you gave us the current monthly differential between -- I think between Dawn and Parkway, if I am not mistaken, and you said it was .06 dollars -- U.S. dollars per MMBTU.  Do you have an update to that number that's more --


MR. SHORTS:  Yes, I do.  If you look at the differential for the period, the average differential May 1st through May 28th, that's 3 cents U.S. per MMBTU.

MR. MONDROW:  So you said May 1st to May 28th.

MR. SHORTS:  Yes, so for the month -- up to --


MR. MONDROW:  The month of May.

MR. SHORTS:  Yes, for the month of May --


MR. MONDROW:  As opposed to the month of April, which was 6 cents.

MR. SHORTS:  Correct.

MR. MONDROW:  Okay.

MR. SHORTS:  Or that question was actually for the first ten days of April, but...

MR. MONDROW:  Oh, that was the monthly average for April.  I see.

Can you give us -- can you possibly give us the monthly averages for each month for the last 12 months ending end of May?  Would that be difficult to produce?

MR. SHORTS:  Sorry, can you repeat that?

MR. MONDROW:  I just realized that you have given us just a month -- well, ten days or April and a month for May -- and it seems to me that the issue of the potential cost to your Parkway delivery obligated customers is perhaps better addressed if we have a year's worth of data, rather than a particular shoulder month, so I wondered if you could give us the monthly differentials for the last 12 months ended May 31st, 2012.

MR. SHORTS:  Well, that number throughout the year does vary.  It has historically varied as well.

MR. MONDROW:  Of course it would, seasonally if for no other reason.

MR. SHORTS:  Yes.

MR. MONDROW:  Yes.  So --


MR. SHORTS:  Yes, we could be able to get the last 12 months.

MR. MONDROW:  That would be great.

MR. SMITH:  We will do that.

MR. MONDROW:  Thank you.

MR. MILLAR:  JT2.9.
UNDERTAKING NO. JT2.9:  TO PROVIDE THE MONTHLY AVERAGES FOR EACH MONTH FOR THE LAST 12 MONTHS TO THE END OF MAY

MR. MONDROW:  Now, we asked a number of questions.  These are all on the J.D series, 18-9-2, -3, and -7, which asked about the policies for Parkway deliveries, and think you've managed to simplify that for us considerably today, so I appreciate that.

And one of the questions we sent you in advance was just to try to understand, because we asked a question about the Parkway call, and I didn't really get much from your answers.

I gather that, in addition to the Parkway obligated deliveries, which are 365-day-a-year obligations, presumably at an average amount -- I think that's the way you work it -- there is in addition to that this Parkway call obligation, under which you can require customers, presumably those that don't already deliver to Parkway by obligation, to deliver to Parkway, and I it's 20 days maximum a year when you call for it.

MR. SHORTS:  It's 22 days to the current calculation.

MR. MONDROW:  Twenty-two days.  Okay.

MR. SHORTS:  Yes, up to 22 days.

MR. MONDROW:  Okay.  Which rate classes does that apply to?

MR. SHORTS:  That applies to the unbundled service, which currently is the U2 service.  They are the only rate class that has taken the unbundled service.

MR. MONDROW:  Okay.  All right.  I think that's it for me on that topic.

And then the last topic had to do with the Parkway deliveries credit, and we asked for an explanation of that, and you referred us to another interrogatory response, which I didn't really see an explanation in.

So could you just give us an explanation for what that is and why you apply it?  And we asked this in our Interrogatory No. 6, so it's J.D-18-9-6.  But I think that cross-referenced a TransCanada interrogatory response, and when I looked at that I didn't really see an answer to the question.

MR. WOOD:  Sorry, what was the -- the question is around --


MR. MONDROW:  The question that we asked -- let me just find it for you.  We asked you to describe the rationale for the credit to customers in the south for firm deliveries at Parkway, and that referred us to J.D-1-7-1, and I didn't see a description of the rationale there.  Maybe I missed it.

But could you just describe the rationale for what that credit is and why you provide it to customers in the south?

MR. SHORTS:  That question would be better suited for the rates panel next.

MR. MONDROW:  Okay.  It has nothing to do with -- okay.  That's fine.  I will ask them.  Thanks.

That's it for now.  Thank you.
Questions by Mr. Thompson:


MR. THOMPSON:  Thanks.  I just have a few questions.  I can't be here this afternoon, so I am going to make a request when I finish these questions for how my questions of the next panel might be handled.

In terms of the Parkway obligation, I have the following questions, really follow-up to some of the things Ian was raising.  Are there any fully unbundled customers that -- on Union's system that are subject to this 22-day call at Parkway?

MR. SHORTS:  Yes, we have some unbundled or U2 customers that are subject to the Parkway call.

MR. THOMPSON:  And approximately how many?

MR. SHORTS:  I don't have that with me.  I'd have

to -- I don't have that information available.

MR. THOMPSON:  Would the next panel have it, or do I need an undertaking to get it?  Is it a small number?

MR. SHORTS:  Number of customers might be large.  The volume is probably fairly small, considering they are residential type customers, small volume.

MR. THOMPSON:  So no -- well, let me ask:  Are there any large-volume U2 customers or U customers?

MR. SHORTS:  There are no large customers outside of the -- out of the M2 or small U2 class that are fully unbundled.

MR. THOMPSON:  Okay.  Thanks.

And so how do the customers discharge the obligation?

MR. SHORTS:  When Union notifies them that they would be required to have the delivery at Parkway, they would nominate that specific volume that they were required to do so at Parkway.

MR. THOMPSON:  I am talking about those that have the 365-day obligation.

MR. SHORTS:  Sorry, I thought you said the unbundled customers.  Sorry.

MR. THOMPSON:  No, no.  Forget about the unbundled now.

How do those, the -- most of them that have this year-round obligation, how do they discharge it?  How do they protect themselves to meet the obligation?

MR. SHORTS:  Many of those customers can have various -- they have various numbers of ways to do that.

They can contract for Union M12 capacity, TransCanada Dawn-to-Union CDA capacity, or buying third-party deliveries at Parkway, which I believe there was a response to one of the other interrogatories that showed for a customer the different ways they were meeting their obligation.

MR. THOMPSON:  Okay.  So in terms of this scenario, if the Board scrapped the Parkway obligation, what would be the options open to Union to protect itself against the risk, without building?

MR. SHORTS:  Union would have to avail themselves of the same type of services.  We would have to look at contracting on other parties for gas delivered at Parkway and whatever the cost of that would be.

So it could be, potentially, TransCanada capacity from Dawn-to-Union CDA, or third-party deliveries at Parkway, of which the cost of that would then have to be recovered from customers.

MR. THOMPSON:  And is there anywhere in the record that --


MR. SMITH:  Sorry, and I think winter peaking service.

MR. THOMPSON:  Sorry?

MR. SHORTS:  And winter peaking service, yes.

MR. THOMPSON:  Okay.  So is there anywhere in the record where each of those options -- looking at it from Union's perspective, if the Board scrapped the obligation, what are the options available to Union to protect against the risk, and what are the costs of each of those options?  Is that in the record?  And if not, could you undertake to give us that analysis?

MR. SHORTS:  In the record is the options Union uses, which could be also long-haul Empress-to-Union CDA capacity, which I failed to mention before.

But I do not believe anywhere in the record that there is an analysis of what each one of those costs.

MR. THOMPSON:  Could that -- could a ballpark be provided?

And what I am interested in -- what are the costs and how would those costs be allocated?

MR. SHORTS:  The difficulty, Mr. Thompson, is that a lot of those services are market-based services, and unless you are actually out there requesting them, it's very difficult to get a handle on what they would be.

I will give you an example.  I mean, if we were to go out and seek 30,000 or 40,000 GJs a day of, say, winter peaking service or delivery at Parkway, it would have probably little or no impact on the market, but if we went out at 650,000 and were requesting, that it would have a tremendous impact on the market.

So I really couldn't give you what the cost of market-based services would be with such a big change.

MR. THOMPSON:  Well, wouldn't you have to do that if the Board decided to scrap this obligation?

MR. SHORTS:  Well, we don't like, necessarily, depending for long-term on third-party services.  We would much rather, from a security of supply and integrity perspective, build to ensure that that critical Parkway obligation could continue to be made.

MR. THOMPSON:  No, I know you like return.

[Laughter]


MR. THOMPSON:  But -- well, I was going to ask you to do it, but I get the impression you are not going to do it, so maybe I will just leave it there.

MR. QUINN:  One of the premise of the answers was that you would be going out to get 650,000 GJs, but that 650,000 GJs would have just been freshly given up.  In other words, to the extent that -- as Peter has asked -- the Board were to scrap Parkway obligation, if those customers migrated to Dawn deliveries, you have now -- you are now just replacing that which was there in the first place, so the market difference is not that great.


MR. SHORTS:  It would depend, because you don't know what some of the capacity that current customers have.

So we do have some in-franchise customers that are meeting their obligation via Dawn-to-Parkway Union capacity.  They may choose to keep that capacity and have other reasons for it, so we wouldn't actually know how much would actually come back.

MR. MONDROW:  Can I follow up for a second, Peter?

Do you have Parkway-delivered peaking supplies now for 2013?

MR. SHORTS:  For 2013 there is no winner peaking service in delivery rates or in the plan.

MR. MONDROW:  Did you have it in 2012?

MR. SHORTS:  In 2012 it is in the plan, but we did not incur any.

MR. MONDROW:  You did not incur any deliveries, but you paid for the service?

MR. SHORTS:  We have in rates planned on winter peaking service in the '12 rates.

We actually did not have to go out and get that peaking service in '12.

MR. MONDROW:  So when you planned for it, did you include a cost in your plan?

MR. SHORTS:  The costs of the winter peaking service have been in the plan since 2007.

MR. MONDROW:  Okay.  And what's the capacity of that Parkway-delivered winter peaking service in the plan?

MR. SHORTS:  It varied each year, the actual --


MR. MONDROW:  What was it last year?

MR. WOOD:  The level for the 2011, 2012 winter was 187,141 GJs per day.

MR. MONDROW:  And was there a cost associated with that in the plan?

MR. SHORTS:  The expected cost was the 3.9 million.

MR. MONDROW:  And you said another option for meeting Parkway delivery would be to contract in '12 from Dawn to Parkway?

MR. SHORTS:  Yes.  Customers can contract for M12 to meet their Parkway obligation.

MR. MONDROW:  And do you have spare capacity available for contracting for the winter of 2013?

MR. WOOD:  By 2013, do you mean 2013, '14 winter?

MR. MONDROW:  Yes.

MR. WOOD:  Yes, we do.

MR. MONDROW:  And did you have spare capacity in 2012, 2013?

MR. WOOD:  Yes.  30,798.

MR. MONDROW:  And in 2013, 2014, those are the capacity numbers that you referred to earlier, Mr. Wood, that are in the evidence?

MR. WOOD:  Yes, they are provided in my evidence.

MR. MONDROW:  That you were going to use for peaking supplies, or to replace peaking supplies?

MR. WOOD:  That's actually -- those numbers are actually net of the peaking system.  So they are surplus on the system with no peaking service.

MR. MONDROW:  Sorry, they are surplus on the system even after your elimination of your Parkway-delivered peaking services and reliance on Dawn-Parkway capacity in lieu of those?

MR. WOOD:  That's correct.

MR. MONDROW:  Okay.  Thanks.

Thank you, Peter.


MR. THOMPSON:  Thanks.  Okay.  Moving to the gas supply side, Chris, I guess this is for you.  And I just have a few questions here.  They relate in part what Tom was discussing and some discussion that was held yesterday.

Now, in terms of all of the capacity that Union holds on TransCanada, am I correct that this capacity has been acquired for the purpose of carrying, first of all, system gas, and second, what you call north bundled T molecules?

MR. SMITH:  Sorry, I have got your technical conference question, Mr. Thompson.  Where are you looking?

MR. THOMPSON:  I don't have it in front of me, but it's a follow-up of the discussion that you were having this morning with Tom Brett.

MR. SHORTS:  So the capacity that Union holds on TransCanada would be to serve the system sales customers, as well as those northern bundled T customers.

MR. THOMPSON:  Did I understand that correctly?

MR. SHORTS:  Yes.

MR. THOMPSON:  And do I understand correctly that the costs of this capacity are classified as gas costs?  In other words, that's the way they are treated in the -- they are part of the gas supply plan?

MR. SHORTS:  They are part of the gas supply plan.

MR. THOMPSON:  Okay.  And now, just so I understand this, does the company have an opportunity annually to turn back TCPL capacity?

MR. SHORTS:  If we have -- if we don't require it and the contracts allow for it from the standpoint of renewal timing, yes, we would.

MR. THOMPSON:  Okay.  And, well, does all of the capacity that you hold on TCPL provide that opportunity?

I had understood that it was annually, but it may be
-- it's annually after an initial long-term contract expires, I think, but can you help me with that?

MR. SHORTS:  If you turn up Exhibit D3, tab 2, schedule 5, pages 1 of 2 and 2 of 2?

MR. THOMPSON:  Yes.

MR. SHORTS:  You will see the contract termination dates for all the upstream capacity.

MR. THOMPSON:  Okay.  And so can you answer my question?  Do you have turn-back opportunities for all of what you hold, or just part?

MR. SHORTS:  Just for part.

MR. THOMPSON:  And that exhibit will tell me which part, will it?

MR. SHORTS:  Yes.

MR. THOMPSON:  Okay.  Thank you.

And now, when you -- on what basis do you decide whether you should or should not turn back?

MR. SHORTS:  We look at the overall operation of the system and then look at any alternatives that we would have to facilitate that same delivery, and then we would make the decision accordingly if we were going to turn back capacity or not.

MR. THOMPSON:  So if I play that back, does that mean that if system customers don't need some of what you hold or northern bundled T don't need some of what you hold, then you will turn back?

MR. SHORTS:  We could turn back, yes.

MR. THOMPSON:  No, will you turn back?

MR. SHORTS:  It depends on the integrity and the management of the entire system, so you could have a slight excess in the north or south, and you may not turn some back specifically because the overall need is there.

MR. THOMPSON:  Okay.  Now, I have heard it said in the past that Union does not profit from its acquisition of gas, gas costs.  What I am trying to say is, you don't profit from incurring gas costs.  If these go up they get flowed through to customers; if they go down they get flowed through to customers.

MR. SHORTS:  Gas cost is a pass-through.

MR. THOMPSON:  Okay.  So that then brings me to FT RAM credits, and this was discussed yesterday, and what I would just like to confirm is that these are an attribute tied to your TCPL contracts; is that right?

MR. SHORTS:  That's my understanding.  I am not an FT RAM expert.

MR. THOMPSON:  Well, I thought you were the gas-supply guy.  Do you buy this stuff?

MR. SHORTS:  We buy the transportation capacity, but we do not optimize any of the -- or utilize the excess, if you want to call it that, transportation that would be out there.  That's another group.

MR. THOMPSON:  I am not going there, but I just wanted to make sure that these particular attributes are tied to these TCPL gas-costs contracts.  And so do you have a conceptual understanding of how -- the rationale for the FT RAM credit, or is that someone else?

MR. SHORTS:  It's probably best for someone else.

MR. THOMPSON:  And is it someone that has passed or the someone that's coming?

MR. SMITH:  I will give you one guess.

MR. THOMPSON:  Passed.

MR. SMITH:  Passed.

MR. THOMPSON:  All right.  Well, I was going to signal where I might be going at the hearing, but I'll save it for the segment of the hearing.

MR. QUINN:  Just before we leave that, Peter, this reference that Mr. Shorts offered is helpful, and I am trying to reconcile it.  I started -- I am going to ask some questions about the cost of transport also, but I am deferring that to panel 4, but I want to just look at that schedule 5, page 1.  Mr. Shorts, do you still have that in front of you?

MR. SHORTS:  D3, tab 2, schedule 5?

MR. QUINN:  Yes.

MR. SHORTS:  Yes.

MR. QUINN:  Okay.  So I see Empress to Union EDAFT, line 2, eighty-six-hundred-seventy-five?

MR. SHORTS:  Yes.

MR. QUINN:  Okay.  So there are four separate ones.  If you take it subject to check that rough math would say there is about 94,000 GJs of Empress-to-Union EDAFT -- would you take that subject to check?

MR. SHORTS:  Subject to check.

MR. QUINN:  Okay.  So you have got 94,000 GJs to the east.  Is that all of your capacity that you hold currently with TransCanada to the eastern zone?

MR. SHORTS:  Again, eastern zone or eastern delivery area?  Because the eastern zone encompasses a much bigger -- not just -- that's why I couldn't answer the earlier question.  I didn't have my calculator up here to add up all the components that are eastern-zone classified.

MR. QUINN:  Well, I see EDA.  That's eastern delivery area.

MR. SHORTS:  Correct.

MR. QUINN:  That's eastern zone?

MR. SHORTS:  It's part of the eastern zone.

MR. QUINN:  Okay.  What else would go into the eastern zone?

MR. SHORTS:  I believe the NCDA, the CDA.  I think that's it, subject to check.

MR. QUINN:  Well, I don't want to ask you to do the math on the spot, and I didn't do the math to get "subject to check", but if we added up all of those figures to the NCDA, EDA, and what was the third one?

MR. SHORTS:  NCDA, EDA, and CDA.

MR. QUINN:  And CDA, that would encompass all of your capacity to the eastern zone at this time?

MR. SHORTS:  I believe it would, yes, subject to check.

MR. QUINN:  Okay.  That's helpful, thank you.

MR. THOMPSON:  Thanks.  Now, those are my questions for this panel.  If I could just, Crawford, put on the record a -- I can't be here much longer.  I've got a flight to catch.

MR. SMITH:  None of us can, yet we will have to be.

MR. THOMPSON:  You have not met my wife.

What I was -- the request I will make, and hopefully you would accommodate me, is that you either provide on the record this afternoon or, if not, then in writing the answers to the questions that we distributed to you that were for panel 4, which was questions number 3, 10, and 11.  Could you consider that, please?

MR. SMITH:  Sorry, just give me one moment, please.

Mr. Thompson, I am just pausing over number 3.  I thought you had asked that question yesterday.

MR. THOMPSON:  I did.

MR. SMITH:  There was an exchange yesterday in relation to this question.

MR. THOMPSON:  Yes, and I think for the second part of it they --


MR. SMITH:  Okay.  Yes, I understand the second paragraph.

MR. THOMPSON:  -- just punted -- yes, they punted me to this panel -- to the panel 4.

MR. SMITH:  We will provide a response by way of undertaking.

MR. THOMPSON:  Thanks.  And with respect to the last one, number 11, there is discussion in one of the paragraphs there about -- the question was "what notice have you given to the customers of these large increases", and the response was to the effect that, with respect to the other than T1s, there had been no notice.  The plan is to ask the Board for approval first, and then that's why the effective date is a year later, and with respect to T1s, my understanding was that there had been some preliminary meeting in 2011, and then there were going to be follow-up meetings with the T1 customers in 2012 after the evidence had been filed.

And what I would like, if you could put on the record a status report on the presentations to the T1 customers of the rate impacts?

MR. SMITH:  Yes, we will do that.

MR. THOMPSON:  Thank you very much.

MR. SMITH:  And just, we will respond to your question 10 on the record this afternoon.

MR. THOMPSON:  Yes, that's fine.  And you can also -- you can respond to that last one on the record if that's --


MR. SMITH:  If it's possible.

MR. THOMPSON:  -- that information is available.

MR. MILLAR:  So we have an Undertaking JT2.10 to answer various questions pre-filed by Mr. Thompson, plus the one he has just expressed.  Some of that may actually be answered by the afternoon panel?

MR. SMITH:  Yes.

MR. MILLAR:  Okay.  Thank you, Peter.
UNDERTAKING NO. JT2.10:  TO PROVIDE RESPONSES TO CME TECHNICAL CONFERENCE QUESTIONS AS PRE-FILED BY MR. THOMPSON, AS WELL AS THE ONE POSED TODAY ON THE RECORD

MR. QUINN:  Before this panel steps down, because --


MR. MILLAR:  I think we still have more folks, but --


MR. QUINN:  Oh, okay.  No, then you can come back to me, Mr. Millar, and we'll --


MR. MILLAR:  I think we just have Julie and Jim; is that correct?  Nothing for you, Julie?  Oh, I'm sorry.  Mr. Stacey.
Questions by Mr. Stacey:


MR. STACEY:  Hello, panel.  My name is Jason Stacey, and I just had a couple of follow-up questions.

Mr. Redford, you had mentioned the Parkway extension project.  Open season has just closed, and you are reviewing the bids.  Do you have an idea of when you might be able to announce if the project will be going ahead?

MR. REDFORD:  Not at this time.  I don't think -- I don't know that we have a time frame for that.

MR. STACEY:  It's not a month or two months or...

MR. REDFORD:  No.  It may be longer than that.  Certainly for a 2014 project, that time is coming quick.  But, you know, for something later than that, there is lots of time to talk to the market.

MR. STACEY:  Okay.  And then in terms of the Parkway West project, the loss of critical unit, what rate classes would be picking up those costs?  Would it be --


MR. REDFORD:  I think that's a better question for Mr. Tetreault, or -- and the fourth panel.

MR. STACEY:  Okay.  And then similarly for the Parkway extension project, the rate classes that would be picking up those costs?

MR. REDFORD:  I am not even sure we are there.  We are not really sure what that project looks like at this point.  We have a proposal out there, but I mean, it would be just total conjecture.

I don't know that we could even speak to that.

MR. STACEY:  Okay.  Thanks.


MR. MILLAR:  Is that all, Mr. Stacey?

MR. STACEY:  Yes.

MR. MILLAR:  Mr. Quinn, you had one follow-up, did you?
Further Questions by Mr. Quinn:


MR. QUINN:  Yes.  Mr. Thompson and I were both interested in that chart that we were discussing, Mr. Shorts, D3, tab 2, schedule 5.

Line 2 does reference 8,675 GJs.  The termination date of that contract is November 1st, 2012.

To the extent that you were going to turn that back, you would have had to have given notice at this point, would you not?

MR. SHORTS:  Yes, we would have.

MR. QUINN:  Okay.  Can you tell us if that has been turned back?  Or undertake to tell us if that's been turned back?

MR. SHORTS:  We did not turn that back.

MR. QUINN:  Okay.  Thank you.


MR. MILLAR:  Is there anyone else for panel 3?

Mr. Brett?
Further Questions by Mr. Brett:


MR. BRETT:  Just one follow-up on something that Ian was talking about.

Mr. Shorts, I should know this, but could you remind me, do all of the direct purchase customers in the province -- in the south, rather, Union south, apart from the ones you discussed with Ian that are west of Dawn, the new ones that are west of Dawn, do all of the existing direct purchase customers in the southern -- Union's southern area, do they all have Parkway obligations?  Did they all have the Parkway obligation, or are there any of them that don't?

There was a period of time when people had a vertical slice when they went to direct purchase, but let me separate that.

Are there folks that -- are there direct purchase customers that do not have Parkway obligations, other than the ones that are west of Dawn?

MR. SHORTS:  There are direct purchase customers who, given the time when they went direct purchase, may not have been allocated a long-haul FT contract that landed at Parkway.  Those customers would potentially not have a Parkway obligation.


MR. BRETT:  Okay.  Now, are there many of those, or are they a small percentage or...

MR. SHORTS:  I'd don't have that information in front of me.

MR. BRETT:  One of things I would -- would it be possible to get the information, to get an undertaking as to -- I'm really more interested in the volume than the number of customers.

In other words, if you took the volume of gas, took the volume of customers in terms of their consumption, direct purchase customers in the Union southern zone of operations, if I can put it that way, that do have Parkway obligations versus those that do not -- and I take it, Mr. Shorts, just as a prelude to that, am I right in thinking that either you have the Parkway obligation for 100 percent of your load -- in other words, that's where you are delivering -- or you don't?  In other words, you are not in between, you're not -- it is not like 20 percent or 30 percent or 40 percent or...

MR. SHORTS:  It really would depend on the capacity that was assigned to that customer when they went direct purchase, so they could have a component of it, but not all.

MR. BRETT:  They could have a component of it.

So what I am trying to do is just a get a high-level appreciation of what percentage of the total gas that is on direct purchase now -- take the most recent year in the Union south operating region -- carries with it the obligation to deliver it to Parkway.

Could I get an undertaking on that?

MR. SMITH:  Just a minute.  I understand from the witness we'd have to -- what we will do is we will go and look at if it's possible to do what you have asked, Mr. Brett.

That's why I had to speak to the witness.  I understand it may not be that simple.

MR. BRETT:  All right.  Well, then, you will, what, give a undertaking to go and do that and make an assessment and report, sort of?

MR. SMITH:  Yes.

MR. BRETT:  Okay.

MR. MILLAR:  JT2.11.
UNDERTAKING NO. JT2.11:  to EXPLAIN HOW MUCH DIRECT PURCHASE GAS IN UNION'S SOUTHERN OPERATING REGION CARRIES AN OBLIGATION TO DELIVER TO PARKWAY

MR. BRETT:  And I am clear, more or less clear on what I am trying to get at?

MR. SMITH:  More or less.

[Laughter]


MR. MILLAR:  Mr. Quinn, you had one more follow-up?

MR. QUINN:  Yes.  At the risk of doing the Columbo thing here, Mr. Shorts, you were very quick to answer that the one contract we discussed was not turned back November 1st, 2012.

Could you provide us the amount of eastern zone -–Empress-to-Eastern zone contracts that were turned back in the last three years, as of November 2010, November 1st, 2011 and November 1st, 2012?

MR. SHORTS:  Would that be for just Union, or for other customers that we allowed turn-back for?

MR. QUINN:  For Union.  These are contracts, a summary of upstream contracts that Union has, so that -- categorized to those -- to the Eastern zone how much capacity in each of those years was turned back.

MR. SHORTS:  We should be able to have that information.

MR. QUINN:  Okay.  That would be helpful if you could do it for the three years.  Thank you.

MR. MILLAR:  JT2.12.
UNDERTAKING NO. JT2.12:  to IDENTIFY EMPRESS-TO-EASTERN ZONE CONTRACTS TURNED BACK AS OF NOVEMBER 1, 2010, NOVEMBER 1, 2011 AND NOVEMBER 1, 2012.

MR. MILLAR:  I think that concludes panel 3.  Thank you.

We will break for lunch.  I don't have a great sense on how much time we will need this afternoon.  Do the parties think we need a 45-minute lunch break, as opposed to an hour?  I don't think anyone wants to sit here until 7:00 again.

Is that okay with the witnesses -- or with Union, sorry?

MR. SMITH:  How long do people have this afternoon?

MR. MILLAR:  Staff has very little.

Peter's gone.

MR. GRUENBAUER:  I will have about 10 minutes, I think.

MR. QUINN:  I have about 20 minutes.

MR. AIKEN:  I probably have 15 to 20 minutes.

MR. STACEY:  I have one question.

MR. MONDROW:  I may not have any, actually.

MR. WOLNIK:  About 10.

MR. MILLAR:  I think we will be fine with an hour.

Let's come back at 1:45.  Thank you.

--- Luncheon recess taken at 12:45 p.m.

--- On resuming at 1:45 p.m.

Procedural Matters:


MR. MILLAR:  We are back and ready to commence with panel 4.  Before I ask you to introduce your panel, Mr. Smith, I have been asked to pass along a message from the panel.  We don't have everyone here, but perhaps we can all remember to remind folks to check the transcript just so that this is not missed.  It's with regard to the settlement conference.  And this is what they have asked me to relay.

This is Union's first cost-of-service hearing since 2006.  There has been no significant Board review of Union's underlying costs since that time.  The Panel certainly encourages the parties to work productively towards reaching a settlement in this case if possible.  However, it reminds parties that it will expect any settlement to be fully supported by references to the evidence with a clear explanation of why the proposed settlement is appropriate.

The Panel members must be satisfied that any proposed settlement results in just and reasonable rates or the settlement will not be approved.

The Panel also has a specific caution with respect to reaching a settlement that is a package and deemed by parties to be non-severable.  Parties should consider carefully whether all issues in an agreement really are unseverable or which issues could be taken to hearing while settling others.

And that concludes the Panel's message to you.  If there are any questions, I can't answer them.

So Mr. Smith, with that, unless there are any other preliminary issues, perhaps you could introduce panel 4.

MR. SMITH:  Panel 4, cost allocation and rate design.  We bring to you Harold Pankrac, Robin Stevenson, and Greg Tetreault, not in that order.
UNION GAS - PANEL 4 – COST ALLOCATION AND RATE DESIGN


Harold Pankrac


Robin Stevenson


Greg Tetreault

Questions by Mr. Quinn:


MR. QUINN:  Thank you.  Good afternoon, panel.  I appreciate that we are into the home stretch here.  As Mr. Tetreault heard this morning, we deferred some of my questions relative to Exhibit J.C-4-7-10, and I was going to ask if you could turn that up, specifically initially attachment 1.

MR. TETREAULT:  I need a minute to...

We have it.

MR. QUINN:  Okay.  Thank you.  I just turned it up myself, just in case we need to go to any of the verbiage, but I don't really think so.

I am speaking specifically to attachment 1, wherein there is a level of capacity assignments to the respective eastern, northern, and western zones and the monthly capacity assignments going from December '07 right through to present day.

Now, the questions I had where we stopped this morning was on the issue of cost, and my understanding would be that the cost of the demand charge for the capacity shown in these charts would be allocated to the transportation account for recovery from Union's transportation customers; is that accurate?

MR. TETREAULT:  That's correct.

MR. QUINN:  Okay.  So when the capacity is assigned does the cost for the demand charge stay in the transportation account?

MR. TETREAULT:  Mr. Quinn, you are speaking about where Union may assign that capacity to an in-franchise customer?

MR. QUINN:  To another party, a third party.

MR. TETREAULT:  I don't know that I can help you with how that procedure works.  I am not close to the capacity assignments that may be undertaken by gas supply.

MR. QUINN:  I am not as concerned with the process of assigning the capacity, but if Union were to assign some of that capacity to a third party, would there be a shifting of costs out of the transportation account, a shifting of the demand charge out of the transportation account?

MR. TETREAULT:  I would expect that if a third party is taking assignment of capacity, they are paying for the capacity.

MR. QUINN:  They are paying for the capacity, but would the transportation account be credited -- would the demand charge be removed from the transportation account and moved over into potentially the optimization account?

MR. TETREAULT:  I can't help you, Mr. Quinn, with the financial treatment.  That's not my area of expertise.

MR. QUINN:  Well, since we are at the end of the panels and, as Peter had said, there is nobody else coming behind you, would you undertake to provide us that answer?

MR. SMITH:  What's the specific question?

MR. QUINN:  The specific question is, when the capacity is assigned to a third party, is the transportation account credited to remove the demand charge from the transportation account, and that it flows with the transportation in this case to the optimization book?

MR. SMITH:  What do you mean by "the transportation account", Mr. Quinn?

MR. QUINN:  Well, I am going to walk through this more slowly then.  Mr. Tetreault, when Union is contracting for long-haul transport, it's recovered in transportation rates?

MR. TETREAULT:  That's correct.

MR. QUINN:  Okay.  So there is an account that captures the cost, the cost of which eventually has to be cleared against the revenues?

MR. TETREAULT:  I am just struggling, Dwayne, with what account you are referring to.

MR. QUINN:  Well, I don't know your system of accounts or order of accounts, so I am not sure exactly what the account is, but there is a cost of transportation which Union must use to establish its transportation rate.

So when you pay an invoice to TransCanada for the demand charge associated with that transport, the cost goes into an account.  What account would that be?

MR. TETREAULT:  It would be -- again, this is not my area, but it would be a gas supply deferral account, if I understand your question properly.

MR. QUINN:  Okay.  So it goes into the gas supply deferral account, which is reviewed through the QRAM process.

MR. TETREAULT:  It is.

MR. QUINN:  Okay.  So there was a demand charge for a specific month, an invoice was paid, there is a cost put into that account, but during that month the capacity was not needed, so it was assigned to a third party.  Does the demand-charge cost get removed from that PGVA account or does it stay in that account?

MR. TETREAULT:  Mr. Quinn, I have got to go back to my earlier response.  I am not involved in gas-supply deferral accounting.  I can't answer -- I can't answer that for you.

MR. QUINN:  Okay.  Well, this was moved to this panel, so would Union undertake to answer that question?

MR. KITCHEN:  Let me try, Dwayne.  When there is -- when rates are set, there will be a certain level of upstream transportation in the northern gas-supply transportation rates and in the gas-supply charges for the south.

If there is an assignment of any of that capacity and it's a permanent assignment that's then picked up by a third party that then takes on paying for that invoice, then that invoice never hits the -- the cost of that would never hit the PGVA.  It would never hit the transportation deferral accounts, because it's not a cost that Union would pay.

MR. QUINN:  So specific to the volumes that are shown in that attachment, these volumes are capacity assignments.  Does the responsibility for the invoice flow to that third party?

MR. KITCHEN:  My understanding is if it's a permanent assignment then Union does not pay the invoice.  That invoice is paid by that party that has the assignment.

MR. QUINN:  Okay.  So I guess I will be more specific then.  For what is depicted in that table, are these permanent assignments, or are they monthly temporary capacity assignments?

MR. TETREAULT:  I don't know, Mr. Quinn.

MR. QUINN:  Well, I am asking, I guess, Mr. Kitchen now, because he was giving an answer based upon a permanent assignment, and I don't read in his response that these assignments are actually permanent.

MR. KITCHEN:  We can look into that and check that and determine what the type of assignment is.

MR. QUINN:  I want the type of assignment, but then if it is not a permanent assignment and the invoice does not go with that capacity responsibility, I would like to know where the cost is kept.  Is it moved to another account or is it still in the PGVA account?

MR. KITCHEN:  Is your basic concern who pays in the event of an assignment?

MR. QUINN:  Who pays the demand charge initially, yes.

MR. KITCHEN:  Well, who pays in general; right?

MR. QUINN:  Well, there could be different components.

If the assignment is a temporary, and it goes with the responsibility for the commodity charge and the fuel for whatever consideration you receive, that doesn't necessarily include the demand charge.

MR. KITCHEN:  I think what we will do is look at the transcripts and try to put together an answer based on what the transcript says, and we will confirm the types of assignments that these are.

MR. QUINN:  Okay.  Well, maybe we can put that together with -- there is in the interrogatory response that is just preceding this, so it's J.C-4-7-9.  If we can turn that up, it might provide clarity.

And we can keep the undertaking open, if that's all right, Mr. Millar, until we get qualification of it?

So attachment 2 shows the components of net exchange revenue, and under the RAM revenue there are capacity assignments.  Are these different somehow from the capacity assignments that are depicted in 4-7-10?

MR. TETREAULT:  I apologize.  I am not being very helpful, Mr. Quinn, but I don't know -- I had no -- I was not involved in the preparation of these IRs.

MR. QUINN:  Well, I guess I am trying to make sure that we have some clarity in the record for what we are asking, but essentially the first interrogatory, 4-7-10, attachment 1, shows capacity assignments.

We are interested in where the costs are borne, specifically, especially, the demand charge for that capacity.  And to the extent it finds its way into any kind of net revenue account, does the cost of that demand charge get shifted also?  Or does the cost stay in the transportation account, and then other costs are deducted from the revenue achieved from these types of assignments?

MR. KITCHEN:  So, Mr. Quinn, if I understand what you are asking, then, is to the extent that we have FT RAM revenue, you want to ensure that -- or understand how the cost side of that is treated, and whether or not any capacity assignments or the costs associated with any of the capacity is netted against those revenues?  Let me say that, for lack of better term.

MR. QUINN:  Yes, and to be clear, because we don't know the answer to it, you have your RAM capacity assignments, and we have this chart in 4-7-10.  They may or may not be the same, so for either of those cases what we are interested in is where are the costs for that transportation borne and, again, in the calculation of the net exchange revenue, what costs are deducted to come up with your net revenue.

MR. KITCHEN:  Why don't we do it --


MR. SMITH:  Sorry, when you say that they may or may not be the same, why do you say that?

MR. QUINN:  Because I don't think anyone's answered that question.

When I asked about transportation in the eastern zone and then when I reflected back to these RAM revenue capacity assignments, these could be temporary assignments that are not as a result of RAM, but just a clear transfer of rights to fill the pipe for that month, so it has nothing to do with RAM.

So there are two types of capacity assignments, and I am trying to differentiate in my mind:  Are the costs handled differently, depending on the type of assignment that's being done?

MR. SMITH:  We will review the transcript, and we will see if we can come up with an answer that's responsive to what you have indicated.

MR. QUINN:  Okay.  Thank you.

And just to make sure we circle back, Mr. Smith, there was an undertaking taken be the first panel to look at the net exchange revenue; these may be done together if it is efficient, so that there is clarity in terms of how the net exchange revenue in 4-7-9 is calculated, but very clearly worded as the demand charge for the capacity, where does it get paid, from what account does that money -- what account does that money go to and how is it recovered.

MR. SMITH:  I can't remember 65 undertakings go.

MR. QUINN:  There was an undertaking, just so you don't do double-duty.  I just wanted to be, in fairness, reminding you of that undertaking also.

MR. SMITH:  I appreciate that.  Thank you.

MR. MILLAR:  The current undertaking is JT2.13.  I can't imagine we will get a pithy summary of it, so I rely on parties to look at the transcript to make their best efforts.
UNDERTAKING NO. JT1.13:  [as described]

MR. QUINN:  Thank you.


Okay.  We are staying in that same binder, if that's what you have there, panel.  I think that might be efficient.

We were asking questions regarding J.C-4-7-7, so it's two previous to the 7-9 we were just talking about.  Do you have that?

MR. TETREAULT:  We do.


MR. QUINN:  This IR was talking about capacity from St. Clair to Dawn, and the final sentence, when asked -- in part (c), it asks about what would -- if the additional demands of 21,000 resulting from the recent St. Clair-to-Dawn open season were incorporated in Union's 2013 forecast, there would be a shift in Ojibway-St. Clair demand costs of 272,000 from south in-franchise classes to the C1 rate class.  And it finishes with:

"The impact on Union's 2013 proposed rates would be minimal."

And we asked the question:

"Please describe why, and provide the assumptions that underpin that conclusion."


MR. TETREAULT:  The simple answer there, Mr. Quinn, is that our south delivery and storage revenue requirement is in the neighbourhood of $550 million, so a shift of 272,000 from south in-franchise to C1 would be de minimus in terms of a change to south in-franchise delivery rates.

MR. QUINN:  And clarify for me, then, and I see, based upon the quantity of numbers that you provided, there would be, though, an impact on the deferral account in the order of 272,000, would there not?

MR. TETREAULT:  Which deferral account are you referring to?

MR. QUINN:  The deferral account for C1.

MR. TETREAULT:  I am not aware of a C1 transportation-related deferral account.

MR. QUINN:  Okay.  Presuming that there may be a transportation deferral account, which --


MR. SMITH:  No, no, no.

MR. QUINN:  Well, let's just say if -- that is one of the issues in this proceeding.  If there is going to be a transportation -- a need to re-establish a transportation deferral account, and I guess I am just trying to clarify my understanding, to say if there were a transportation deferral account, there would be a $272,000 impact to that deferral account as a cost, would there not?

MR. SMITH:  No.  We are not answering that question.


MR. QUINN:  Okay.  So I will take that as a -- I will have to figure out my own way of getting that clarity, but let's just move on.

The next IR, and this is -- sorry, panel, but I am back on to my list of questions that I submitted to Union earlier this week.

So the next reference is J.C-4-10-4.

MR. TETREAULT:  We have it.

MR. QUINN:  My simple question is:  We had asked about this impact, and can you confirm that Union has assumed a value of zero for the value of Dawn-Trafalgar transportation capacity?

MR. SMITH:  I am not sure I understand.  Which part of 4-10-4 are you looking at?

MR. QUINN:  I am coming back to it myself here.  So the upper part of the response was asking about the optimization revenue for transportation assets, and to the extent that there was a reduction in the amount of Dawn-Trafalgar capacity there could be the opportunity to sell that capacity.

So in (c) we said:

"Has Union assumed that any Dawn-Trafalgar transportation capacity will be freed up by non-renewal..."

Sorry, I'll:

"Has Union assumed that any Dawn-Trafalgar capacity will be freed up by non-renewal, will have no value as short-term or interruptible transportation service?"

And the answer said in the 2013 forecast the Dawn-to-Parkway transportation that was not contracted is not available for sale, as it was utilized in the gas-supply plan.  But then in 2013 it says forecasting some available capacity, and the market for this capacity will depend on TCPL tolls and available downstream capacity and market dynamics.

But we are asking what value was used as what would -- how much revenue would be generated from that available capacity that would be available as of November 2013, and we are asking, was that number zero for the purposes of the forecast?

MR. SMITH:  I don't think this panel can help you with that.

MR. TETREAULT:  No, I cannot.

MR. QUINN:  Well, I will seek clarification then later.

Let's move to G.  You guys are responsible for G; correct?

MR. TETREAULT:  Yes.

MR. QUINN:  Thank you.

So I will just go down to the reference, the next -- do you have the questions that I submitted in front of you?

MR. TETREAULT:  We do, Mr. Quinn.  We haven't had a great deal of opportunity to review them, but we have scanned them.

MR. QUINN:  You should talk to Ms. Cameron and ask her who prepared her, because she had them faster than I could turn them up, so...

If we look at -- the first one starts with reference G1, tab 1, page 6, table 1?

MR. TETREAULT:  We have the question.

MR. QUINN:  Okay.  So in column C, line 2, column C, excess utility storage space, there is a long-term figure of 66.5 PJs of long-term storage space.  Your footnote for that says:

"Storage space includes total working storage capacity less non-utility third-party storage space."

That number seems to be different from the number we usually see, so is there anything else you can help us to explain that 66.5 figure?

MR. SMITH:  Sorry, what is the figure that you want Union to reconcile to?

MR. QUINN:  Well, one of the things we were wondering about, does the number include space deemed unavailable?  If so, what amount?

MR. TETREAULT:  I don't believe it does, Mr. Quinn.  But as I mentioned, we have only briefly had a chance to review the questions.  So I am not sure I can give you a better answer today.

MR. QUINN:  Okay.  Well, then would you undertake to clarify the number, and specifically, does it include space deemed unavailable and, if so, what amount?

MR. SMITH:  Yes, we will do that.

MR. QUINN:  Thank you.

MR. MILLAR:  JT2.14.
UNDERTAKING NO. JT2.14:  TO CLARIFY THE NUMBER AND WHETHER IT INCLUDES SPACE DEEMED UNAVAILABLE AND, IF SO, WHAT AMOUNT

MR. QUINN:  So the next reference is G-10-10-1.

MR. TETREAULT:  We have it.

MR. QUINN:  Okay.  In part (c) of that IR response, a table is there that is introduced by the sentence:

"As noted in the response at part (a) above, ex-franchise volumes are forecast based on existing and forecast contracts."

What we wanted to ask is if you could explain the absence of C1 volumes from the responses provided?

MR. TETREAULT:  Again, Mr. Quinn, I think this is something that we need to work on and take away.  I don't think we have had an opportunity to prepare answers to all of your technical conference questions.

MR. QUINN:  Okay.  Well, I can accept that.  And so just so we have clarity in the undertaking, if these volumes were -- specifically the C1 volumes were inadvertently omitted, please update the tables to include those volumes?  Could you take that then as an undertaking?

MR. SMITH:  Yes, we will do that.

MR. QUINN:  Okay.  And --


MR. MILLAR:  JT2.15.
UNDERTAKING NO. JT2.15:  TO UPDATE THE TABLES TO INCLUDE THE C1 VOLUMES IF THEY WERE INADVERTENTLY OMITTED

MR. QUINN:  All right.  Then specifically in that same IR, Union's answer in (a) provided there was no peaking service in 2011 and 2012, yet the answer in (b) provides a cost of $2.4 million.  Please provide an explanation of that cost.

MR. SMITH:  Well, I am...  I am at a bit of a disadvantage, because my iPad for whatever reason isn't allowing me to open this interrogatory.  Do you have...

Mr. Quinn, where is the reference to winter peaking service?

MR. QUINN:  Well, I am just marginally ahead of you, Mr. Smith, because my computer is working, and yet I realize that I referenced the wrong one.  I said "dash 1" when it should be "dash 2", so that hopefully will helps the panel also.  I apologize.

So in 10-10-2, the (a) part of the answer says that Union acquired the volumes for winter peaking service in 2011/2012.  The number was zero.  Yet under (b), the cost of the winter peaking service to Union was as follows, and 2011 has a $2.4 million cost.

MR. SMITH:  Well, I just refer you back to Mr. Shorts's evidence from panel 3, where he had indicated that, although there was none actually used in 2011/'12, that there was a cost built into rates.

MR. QUINN:  How was that built into rates?  Maybe that's where Mr. Tetreault can help us understand, because the cost varies between 2008 and 2011.

MR. TETREAULT:  The winter-peaking-service costs in rates are based on the Board-approved costs from 2007.  That was the 3.9 million that Mr. Shorts referenced earlier today.

MR. QUINN:  So that's the amount in rates, but is that the answer you gave here when you said the cost of the winter peaking service was as follows?

MR. TETREAULT:  Well, Mr. Quinn, I may disappoint you, but, yes, this is in G binder, but this is not my response.  My understanding is that the difference is calendar year in part (b) versus the winter season in part (a).

So in other words, in part (a) you see winter 2010/2011, and a GJ-per-day reference of 306,000, yet in part (b) I think we see a 2011 cost of 2.4 million.

So my understanding from some discussion I have had with Mr. Shorts is that the 306,000 GJs occurred in the 2011 portion of that winter.  Therefore, you see a cost for it in part (b), under calendar 2011.

MR. QUINN:  Well, maybe the best way to do this is to ask if you could update those tables and show the winter peaking costs that are consistent with the term in A.  So if it's 2007/2008, what was the cost associated with the peaking service for that season, as opposed to the annualized cost -- the calendar-year cost?  Could you do that?

MR. SMITH:  Yes, we will do that.

MR. QUINN:  Okay.  Thank you.

MR. MILLAR:  JT2.16.
UNDERTAKING NO. JT2.16:  TO UPDATE THE TABLES AND SHOW THE WINTER PEAKING COSTS THAT ARE CONSISTENT WITH THE TERM IN A.  TO CONFIRM, IF IT IS 2007/2008, WHAT THE COST WAS ASSOCIATED WITH THE PEAKING SERVICE FOR THAT SEASON, AS OPPOSED TO THE CALENDAR-YEAR COST

MR. QUINN:  Okay.  And if I have my reference right, the next one is -10-10-5.  If you could turn that up?

MR. TETREAULT:  We have it.

MR. QUINN:  In the answers given, Union's description includes lines 2, 5 and 11 in the volumes requiring Parkway compression.

Please describe why line 7, the M12X, is not included in that sum.

MR. TETREAULT:  My answer here, Mr. Quinn, is similar to what I said for JG10-10-1, which is we haven't had a chance to prepare this information and need to do so to be responsive.

MR. QUINN:  Okay.  You will accept it as an undertaking, Mr. Smith?

MR. SMITH:  Yes, we will.

MR. MILLAR:  JT2.17.
UNDERTAKING NO. JT2.17:  tO EXPLAIN WHY M12X IS NOT INCLUDED IN VOLUMES REQUIRING PARKWAY COMPRESSION.

MR. QUINN:  Sorry to put you in that position, Mr. Tetreault.  I thought by advancing the questions, but I appreciate you can do them as undertakings, and we will look forward to seeing that.

Procedurally, I went over this at lunch, Mr. Millar, just talking with some folks here.  We are meeting again next Wednesday to do settlement.

Is it appropriate to ask Union that, as opposed to waiting until Wednesday morning to give us as many as they have, that an instalment of some on Monday and some on Tuesday could be undertaken?


MR. SMITH:  No, we are not going to commit to deliver them on Monday and Tuesday.  There is an incredible volume of undertakings, and we will provide them working diligently, and we will provide them as soon as we can.

But I am not in a position to commit to deliver undertakings on Monday and Tuesday.

MR. QUINN:  To be clear –- and I appreciate the amount of work that has been undertaken from these last two days, but I guess what we're asking is if you have a quarter of them done by Monday, that some of those could be delivered to us so that we could start digesting them and not waste everybody's time here on Wednesday morning trying to read and catch up.

MR. SMITH:  Well, I am certainly prepared to send them as they become available, in batches.  I am just not prepared to say they will be available on Monday.

MR. QUINN:  Thank you.  That is all I was asking.

Those are all my questions, Mr. Millar.  Thank you.

MR. MILLAR:  Thank you, Mr. Quinn.

Randy, did you want to go next?
Questions by Mr. Aiken:


MR. AIKEN:  My questions are all on the rate design area, I believe, and if you have the questions that I filed on Monday, it would be of assistance.

The first one refers to Exhibit J.H-1-1-2.

The response notes that:

"The increase in Union north delivery rates, based on Union's updated evidence, is about 20 percent, and the increase in Union's south delivery rates is about 7 percent.  Page 4 of the response provides a number of rate mitigation measures that could be used to reduce these figures."

So I have a series of questions on these rate mitigation measures.

First, could you please provide comparable figures to the 20 percent and 7 percent increases noted above if the equity component of the capital structure were to be increased from 36 percent to 40 percent in equal increments over a four-year period?

MR. TETREAULT:  We are working on them, Randy.  We have done some preliminary analysis, but I don't have final documents here today to be able to provide responses on the record.

MR. AIKEN:  I assume that applies to parts (b) and (c), as well?

MR. TETREAULT:  I think that may apply potentially to all of your part 2 technical conference questions.


MR. AIKEN:  Okay.  So can we cut to the chase and just have maybe one undertaking to file responses to the six rate design questions that were filed?

MR. SMITH:  Sorry, Mr. Aiken, I am just looking at them.

Yes, we will do that.

MR. MILLAR:  JT2.18.
UNDERTAKING NO. JT2.18:  to PROVIDE RESPONSES TO rate design questions in LPMA Technical conference questions 1 to 6, as FILED.

MR. SMITH:  These are the questions under the H category?

MR. AIKEN:  Yes.

MR. SMITH:  Yes, we will do that.

MR. AIKEN:  Numbered 1 through 6.

MR. SMITH:  Yes.

MR. AIKEN:  I have one question I have been asked to pose from Energy Probe, and it was Question No. 12 on their list.  It refers to Exhibit JG1-3-2 and attachment 1, and the question is:

"Given the Board's Decision in EB-2011-0025, please discuss why a separate classification/ allocation of cross-bore cost is appropriate for 2013."

MR. TETREAULT:  And this one I am prepared to respond to.

As I recall, the Board's decision in that proceeding, which is the 2012 rates proceeding, the Board ruled that Union's request for a cross-bore Z-factor would be denied.  They denied that cost request.

So I was having difficulty with how the Board's decision in '12 rates related to what our proposal is in 2013 cost of service, which is to directly assign cross-bore-related costs to the customers that are incurring those costs.

MR. AIKEN:  Okay.  Thank you.  Those are my questions.


MR. MILLAR:  Thank you, Mr. Aiken.

MR. BRETT:  Excuse me.  I just have a -- that last question, if I may, Mr. Tetreault, that's a cost allocation question; right?

And is it -- am I right?  Did I hear you say that the -- what's the phrase for that program?   Cross-bore.

MR. TETREAULT:  Cross-bore safety program.

MR. BRETT:  I may have misheard you, but the costs incurred by customers, individual customers -- let's say I am a residential homeowner and I have a cross-bore issue, and Union has to spend some money on that.  Did you mean to say that would be assigned directly to me, or that those costs collectively are going to be allocated to the residential class?

MR. TETREAULT:  Those costs in our 2013 proposal are directly assigned to all general service rate classes, based on the average number of customers in those classes.

MR. BRETT:  Okay.  So they are not directly assigned - I mean, they are allocated, I guess.  Okay.  Directly assigned, allocated.

So it goes to the general service customers in the M1 and M2 class, or all the general service customers?

MR. TETREAULT:  All four general service classes, so M1 and M2 in the south, and Rate 01 and Rate 10 in the north.

MR. BRETT:  But there are some general service customers, as we discussed the other day, who are from other rate classes?  Not many, but some?

MR. TETREAULT:  No.  Those are our four general service rate classes.

MR. BRETT:  Okay.  All right.  So are these all residential, then?

MR. TETREAULT:  No, they would be residential, small commercial, small industrial customers.

MR. BRETT:  Okay.  But then -- but I am sorry, I am not quite -- just to be sure, help me.  This -- we allocate costs on a rate class basis; right?

MR. TETREAULT:  We do.

MR. BRETT:  So are you saying, then, that the costs of the cross-bore program are going to be allocated to the M1, M2 and their comparables in the north, to those four rate classes?

MR. TETREAULT:  Yes, that's what I am saying.

MR. BRETT:  All right.  Thank you.


MR. MILLAR:  Mr. Gruenbauer, did you want to go next?
Questions by Mr. Gruenbauer:


MR. GRUENBAUER:  Yes.  Thank you, Mr. Millar.

Good afternoon, panel.  Have you got the technical conference questions with respect to rates in front of you that I e-mailed a couple of days ago?

MR. TETREAULT:  We do, Jim.

MR. GRUENBAUER:  Thank you.

And the reference is J.H1-8-1, attachment 2 to that response, which was one of our interrogatories.  Was one of you folks directly responsible for preparing that attachment 2?

MS. STEVENSON:  Yes, we are.

MR. GRUENBAUER:  I like the attachment because it provides helpful information.  I should clarify that.  I don't like the numbers, but at least I appreciate the information that's provided.

MR. SMITH:  I appreciate your candour.

MR. GRUENBAUER:  Would you have any difficulty with part (b) of the follow-up question?  Would you be able to duplicate that attachment for each of Rates T1 and T2?  At some point, would you be able to undertake to do that, just so I can look at it for comparative purposes?

MR. SMITH:  Yes, we will do that.

MR. MILLAR:  JT2.19.
UNDERTAKING NO. JT2.19:  to DUPLICATE ATTACHMENT W FOR USING RATES T1 AND T2.

MR. GRUENBAUER:  That's great.

In part (a) the precise nature of the customer-related costs that are allocated to rate T3 is shown at line 5.  If I understand the response that you provided, those costs are directly assigned to T3?  Did I understand that correctly?

MS. STEVENSON:  Yes, sorry, those costs are directly assigned to T3.

MR. GRUENBAUER:  Okay.  Can you help me with exactly what that represents, what those dollars represent?

MS. STEVENSON:  Those costs are provided by our sales group to us, and they are specific costs that relate to the sales reps' time and the costs that they provide that they use with the City of Kitchener.

MR. GRUENBAUER:  Okay.  So this would basically be time spent by our rep, Patrick Boyer (ph), Dave --


MS. STEVENSON:  That is correct.

MR. GRUENBAUER:  -- McEachren (ph), that group?

MS. STEVENSON:  That's correct, yes.

MR. GRUENBAUER:  All right.  And maybe, if we can just go to the next question that I had.  And again, it may be the attachment 2 that helps answer this question.

We understood that our customer charge -- the monthly customer charge that we pay under our rate T3 is designed to recover customer-related costs of providing service to us, and part of those costs would be facilities associated with our gate station.  We have got two gate stations serving us, and associated operating and maintenance expenditures with respect to those facilities.

I guess my first question of clarification, because we put that in the preamble to our interrogatories, is that a correct assumption on our part, or is that incorrect?

MR. TETREAULT:  No, I think it's a fair assumption.

MR. GRUENBAUER:  Okay.  And if I were to look at lines 1 and 2 on attachment 2, where I see return and taxes and depreciation expense, and in column A, that's where we were in 2007, and column B is proposed for 2013, those dollars would represent capital-related costs, which would include the gate-station-facilities cost?

MS. STEVENSON:  Yes, that's correct.

MR. GRUENBAUER:  Okay.  And one thing I did with this attachment which I found it helpful, that total revenue requirement of 206,000 for 2007, I went back to the final rate order in the 0520 case, and the monthly customer charge -- or as in Kitchener we like to call that the joy factor -- is $17,155, and if you multiply that by 12 months you get precisely $206,000.

So it appears that the rate design was -- for the customer charge was intended to recover 100 percent of the allocated -- or sorry, the classified customer-related costs to rate T3?  Is that right, Harold?

MR. PANKRAC:  That is correct.

MR. GRUENBAUER:  Okay.  And again, similarly for 2013, the proposed charge is 421,613.  You multiply that by 12 months and you get $259,000, which you see at column B, line 8; is that correct too?

MR. PANKRAC:  That is correct.  The customer-related charge recovers the customer-related costs.

MR. GRUENBAUER:  Okay.  Is it fair to say that the T3 customer charge, both back in 2007 and proposed for 2013, is the highest of customer charge that's levied on any of your customers in-franchise?

MR. TETREAULT:  Based on the allocated costs, subject to check, I would -- I can agree with that statement.

MR. GRUENBAUER:  Just to clarify -- and I am looking at Exhibit H1, tab 1, page 39, table 15, and this is the proposal with respect to the T1/T2 redesign, and I believe the proposed customer charges, if this proposal is accepted by the Board, the T1 customer charge would be $1,999, say $2,000 for all intents and purposes, per month, the rate T2 would be $6,000 per month, and rate T3 would be $21,600 per month.  Have I got that right?

MR. TETREAULT:  You do.

MR. GRUENBAUER:  Okay.  So T2 is about three times what T1 is, and T3 is about three-and-a-half times what T2 is, by my math.

Looking at that table, and approaching this from kind of a like-to-like comparison purpose --


MR. TETREAULT:  Which table?  Which table, Jim, sorry?

MR. GRUENBAUER:  Yes, sorry, table 15 at H1, tab 1, page 39.  For the proposed rate T2 there is 20 customers that are going to be there, and 14 of them would be served directly off transmission, and there is statistics there giving the range, sort of min/max average.

Is it fair to say that just the load characteristics for Kitchener of T3 is pretty similar to a lot of these proposed T2 rates -- or T2 customers?

MR. TETREAULT:  No, I couldn't confirm that, Mr. Gruenbauer.  I don't know the comparable load characteristics of T3 versus T2.

MR. GRUENBAUER:  Okay.  I guess the last clarification question I had with respect to the customer-related charge, T3 is not allocated any distribution-related costs whatsoever; is that correct?  We are not served off distribution, as I understand it.  We are served off transmission.

MS. STEVENSON:  That is true for distribution demand-related costs, not customer-related cost.

MR. GRUENBAUER:  Okay.  Well, I am just trying to get a sense for the majority of the customer-related costs that are allocated to us, would they be functionalized more from -- almost solely from transmission?

MS. STEVENSON:  All these costs are distribution-related costs that are allocated to the customer.  It's the distribution customer functional classification.

MR. GRUENBAUER:  Okay.  I am probably going to have to chew on that a little bit, because I previously understood in comparing existing rate T1 and T3, that if you compare the rates, the rates for storage service are identical, but the rates for the provision of the transportation service are different, and the T1 customers are higher than the T3, because they are allocated distribution costs that Kitchener is not allocated, because we are not a distribution customer, we are an embedded distribution utility, so that explains the lower rate, and that is what I'm just trying to get some clarity around, the extent to which we are allocated customer-related costs that are functionalized from distribution, as opposed to transmission.  Can you help me there?

MS. STEVENSON:  Jim, as Ms. Stevenson said, it is the distribution customer functional classification, the costs allocated to T3 within that classification that represent the costs we are recovering in Kitchener's monthly customer charge.

MR. GRUENBAUER:  Okay.  Well, it might be a little clearer once I see the comparable attachments for T1 and T2, so I appreciate it.  Thanks for your answers.  Thank you.

MR. MILLAR:  Thank you, Jim.  Who would like to go next?

MR. WOLNIK:  I can go next.

Panel, I just have three kind of question areas. Can I get you to pull up G1, tab 1, appendix B?  G1, tab 1, appendix B.

MS. STEVENSON:  Yes, we have it.

MR. WOLNIK:  Page 2.  And line 6 refers to purchase production general plan.  Can you tell me what that is?

MS. STEVENSON:  That's our proposal for allocating purchase production general plant costs, and we provide that detail in G1.

MR. WOLNIK:  Can you just describe what those costs are?

MS. STEVENSON:  So there are general plant costs that are allocated based on rate base and O&M expenses.  So we recognize the general plant costs would be attributable to O&M and rate base-related costs, and so a portion of those costs are allocated to the purchase production function.

MR. WOLNIK:  And what is purchase production?  Can you just help me with that?

MS. STEVENSON:  That's the function in the cost study that's related to gas purchases.

MR. WOLNIK:  That's what I thought, but I just wanted to confirm that.

That being the case, why would the allocation factor be on a rate base basis, as opposed to on a commodity basis?

MS. STEVENSON:  Those type of expenses are general plant-related costs, and so those are related to O&M expense and plant costs and that's how they are allocated.

MR. WOLNIK:  So my understanding is Rate 100 is all direct purchase?

MS. STEVENSON:  There is a portion in purchase production that is related to the O&M cost, that is to serve those direct purchase-type customers and gas supply type customers.  And because there is an O&M component in that function, they are allocated a portion of the general plant cost.

So it is in relation to the O&M.

MR. WOLNIK:  The nominating function, the scheduling?

MS. STEVENSON:  That's correct.

MR. WOLNIK:  That is fine.  That is what I wanted to just confirm.  Thanks, that's helpful.

Second question, if you could pull up J.D-16-13-1, and actually before you close G1, tab 1, I would like you to kind of open up page 6 in G1, tab 1, as well.

MR. SMITH:  What was the reference in the J.B-s?

MR. WOLNIK:  J.D-16.

MR. SMITH:  Oh, J.D?

MR. WOLNIK:  J.D, yes.  D as in Dawn.

So G1, tab 1, page 6, table 1 looks at allocation of system integrity space; do you see that?

MS. STEVENSON:  Yes, that's correct.

MR. WOLNIK:  And line 7 talks about the allocation of empty space -- empty space of hysteresis.

Now, I understand what the hysteresis space is, and it looks like you are allocating all of that space to in-franchise customers; would you agree with that?

MS. STEVENSON:  Mostly that is correct, yes.  There is a small allocation on line 6 that's nominal.


MR. WOLNIK:  That's filled hysteresis space.  I am talking about line 7, which is the empty hysteresis space.

In aggregate, there is 0.7 BCF of empty hysteresis space, and it's all allocated to in-franchise customers?

MS. STEVENSON:  Yes, that's correct.

MR. WOLNIK:  Okay.  So when I look at J.D-16-13-1, which I think was Mr. Faye's response, or somebody's response to my question on hysteresis space, and as I look at (c), response (c), it says as storage pools are filled, or:

"As pools are filled, pools are shut in for stabilization."

And I understand that.
"Union estimates the hysteresis in each pool to determine the shut-in pressure required to ensure that the maximum allowable operating pressures are not exceeded."

I understand that.
"Following stabilization, the actual hysteresis observed in the pools may vary from the estimated values used to shut in pools.  The variance between the actual and estimated pressures may result in a shortfall."

And I understand that.
"Empty space and integrity space is required to manage this variance."

And I understand that.

And also, in an earlier response, Mr. Faye also talked about sort of this being applicable to all pools, not just in-franchise pools.

So I am trying to understand, if this applies to all pools, and it's really based on the difference between estimated and shut0in pressures, why is that only allocatable to in-franchise customers or in-franchise use? Why wouldn't it also equally apply –- and I say equally -- also apply to long-term non-utility storage?

MS. STEVENSON:  As I understand it, and what we have said in evidence, is that it's to do with the -- who requires the injection rights, or who would have injection rights during that time period.

So what you would use the space for.

So long-term and short term contracts wouldn't require the hysteresis and the empty space timeframe, because of their injection rights during that time.

MR. WOLNIK:  So a long-term customer, as I understand it, would have injection rights throughout the summer, would they not?

MR. TETREAULT:  That's correct.


MR. WOLNIK:  And at some point in time Union would want to shut those pools in for the stabilization period; is that correct?

MR. TETREAULT:  That's my understanding.  Certainly it's Mr. Faye's expertise, but that's my understanding.

MR. WOLNIK:  So the pools that are being used by the non-utility storage, they are not segregated in any way, are they, from the in-franchise pools?

MR. TETREAULT:  Physically, no, they would not be.

MR. WOLNIK:  So would they not be also subject to that same -- that error in pressure that Mr. Faye talks about here?

MR. TETREAULT:  No.  That's not our understanding, John.

Our understanding is that those non-utility customers, short-term or long-term, empty space for hysteresis isn't required because, as Ms. Stevenson said, they don't necessarily have a great deal of firm injection rights, and further they don't have the ability to inject more gas into their storage contracts than they have space contracted for.

MR. WOLNIK:  That's not what this is about, though.

This says:  We don't know exactly, as you are injecting gas into storage, we don't know exactly what the pressure is going to be because of the hysteresis, so we stop it a little bit early, and hysteresis space deals with the error in the estimate.

So I guess I am trying to understand why there is an error in the estimate in the space required for in-franchise pools versus non-utility pools.

Why are non-utility pools -- or the non-utility customers, why are they better and not able to be subject to this empty space hysteresis?

MR. SMITH:  Why don't we ask Mr. Faye that question?

MR. WOLNIK:  Sure.  That's fine.


MR. SMITH:  You can record that as an undertaking.

MR. MILLAR:  JT2.20.
UNDERTAKING NO. JT2.20: to EXPLAIN WHY NON-UTILITY CUSTOMERS ARE NOT SUBJECT TO EMPTY SPACE HYSTERESIS.

MR. WOLNIK:  And my last question goes to J.H-1-13-1.  This was the last question in the clarification questions that we submitted earlier.

This really has to go to the sort of the rate increases for Rate 20, 25 and 100.  These are fairly significant rate increases proposed by Union, and we had asked in the initial interrogatory to provide more detail on why those rate classes are increasing by that amount, and the response redirected us to J.H-1-1-2(a), which I think was a response to Board Staff question.

The response that we were redirected to really had some very high-level cost information and dealt far more with general customer rates than these industrial rates.

So we are really trying to get a handle on why these rates are increasing as much as they are, and I wonder if you could help us.  I suggested in clarification Question No. 5 some areas you might want to look at to help explain why these rates are going up, but I guess we would like a response to the original IR.

MR. TETREAULT:  Similar, John, to other technical conference questions, we are working on responses to those.  They are not fully prepared or reviewed at this point in time.

MR. WOLNIK:  That's fair.  So you will provide that as an undertaking.

MR. SMITH:  Yes, we will.

MR. MILLAR:  JT 2.21.
UNDERTAKING NO. JT2.21:  to PROVIDE a response to appro technical conference question no. 5 and DETAIL ON RATE INCREASES FOR RATES 20, 25 AND 100

Is that all, Mr. Wolnik?

MR. WOLNIK:  That's all.

MR. MILLAR:  Staff has a quick question.  I propose we get it in now.  It will be asked by Mr. Gluck.
Questions by Mr. Gluck:


MR. GLUCK:  Hi, panel.

I would like to take you to Exhibit J.H-1-1-2.  In response to part (a) of that interrogatory on page 3, Union notes its proposal to classify sales and promotion costs as customer-related, and allocate these costs based on an analysis of sales activities.

We'd like to know what did this analysis entail.

MS. STEVENSON:  That actually is consistent with the Board-approved methodology, so we applied the same methodology that was done in 2007.

And our analysis is really just looking at the internal work orders and who those customers -- how their time is being spent and what customers those are being served by.

MR. GLUCK:  Okay.  My next question is related to Exhibit J.H--3-2-4.  Union provided some reasons why creating a new general-service rate class is not an optimal solution. What we would like to know is, in clarification, at the bottom of the page there Union noted that rate M2/M10 still do not satisfy the sufficient rate-class size criteria.

What we would like to know is, is Union referring to the current number of customers in those rate classes or the number of customers that would exist in those classes if a new rate class was created?

MR. PANKRAC:  We are referring to the current number of customers in those rate classes.

MR. GLUCK:  Okay.  And then a follow-up to that is, what does Union consider a sufficient rate-class size for rate classes M2 and Rate 10?

MR. TETREAULT:  Mr. Gluck, there is a fair amount of judgment that goes into that.  A couple thoughts.  The current M2 and Rate 10 rate classes are quite small, so subject to check, I believe Rate 10 in particular is under 2,000 customers, and our proposal to move the volume breakpoint in 2014, the result of that is we expect to have, you know, substantially more customers there, in the neighbourhood of 20,000, I believe.  So it a bit of a judgment call as to where the appropriate breakpoint is to achieve that rate-class size, and I think we are quite comfortable with the volume breakpoint and the rate-class size in both M2 and Rate 10 that results from that, in addition to the improved composition that we are seeing in the small-volume general-service classes.

MR. GLUCK:  Okay.  Thank you.

MR. MILLAR:  Thank you, Mr. Gluck.

Who would like to go next?  We have Tom and Jason competing.

MR. BRETT:  It doesn't matter.

MR. MILLAR:  Jason, why don't you go.
Questions by Mr. Stacey:


MR. STACEY:  Good afternoon, panel.  My name is Jason Stacey, and I had a question from this morning.  I was asking Mr. Redford for the Parkway West project, the loss of critical unit, if the cost of that project -- what customer rate classes would those costs typically fall on, and he deferred it to your panel.

MR. TETREAULT:  Obviously we are sometime away from filing the applications related to Parkway West, but my expectation is that we would look to allocate those costs consistent with how other -- the remaining Dawn-Trafalgar costs are allocated, which is based on distance-weighted demands along the Dawn-Trafalgar system.

MR. STACEY:  So would that be to the M12 rate class typically?

MR. TETREAULT:  There would certainly be a substantial portion of those costs that would be allocated to M12.

MR. STACEY:  Okay.  And similarly, for the Parkway extension project, Mr. Redford indicated it was early, in terms of that project, but I was asking what -- typically, what rate classes would the costs of that be allocated to?

MR. SMITH:  I don't think we are in a position to answer that question, nor do I think we should be required to.

MR. STACEY:  Because it's too early at this point?

MR. SMITH:  And it's not part of this application.

MR. STACEY:  Okay.  The other thing I wanted to ask the rate experts on, I work with typically -- I am a gas consultant, and I typically work with industrial and gas-fired power-generation customers, and I did get a couple calls from clients about the M5 rate deferral charges, and I am just wondering if there is -- I don't know if it's characterized as a flaw or -- in the M5 cost allocation it appears there was no DSM costs allocated to the rate class, so the DSM costs that came through came through as one-time charges which were quite substantial, and I am just wondering, is that a fair characterization, and going forward, are the customers in this rate class going to get a bill once a year for those charges, or is something going to be budgeted into the rate for DSM so that any adjustment shouldn't be so significant?

MR. SMITH:  Well, why don't we take the last part of your question about DSM costs being allocated to M5 as part of this proceeding?  Because there is an open deferral account proceeding dealing with the clearance of the deferral accounts, including to M5, but maybe we can deal with it going forward for 2013.

MR. TETREAULT:  I can tell you, Mr. Stacey, that as a result of the DSM settlement earlier this year there are DSM costs in rates for rate M5.

MR. STACEY:  So going forward, there should be a component built into the rate, say, for 2013 and --


MR. TETREAULT:  That's correct.  There are DSM costs in M5 rates in 2013.

MR. STACEY:  Okay.  Just the feedback from the couple clients is they would prefer that, paying it over time, rather than nothing and then a huge one-time charge, so...

Okay.  Thank you.

MR. MILLAR:  Is that all, Mr. Stacey?

MR. STACEY:  Yes.

MR. MILLAR:  Thank you.  Mr. Brett?
Questions by Mr. Brett:


MR. BRETT:  Thanks.  I just have a couple of information questions, panel.

The first is, I should -- I guess I should know this, but the 12 -- you've got a rate that's M12X.  Now, is that the same as the M12 rate except it has these optional receipt and delivery points?  Is it, aside from that general terms and conditions, so on, and so on, identical?

MR. TETREAULT:  That's my understanding, Mr. Brett.  Just to clarify, M12X does have the optional receipt points that you mentioned.  M12X is a bidirectional service, so there is an easterly component to that service, as well as a westerly component to it.

MR. BRETT:  Okay.

MR. TETREAULT:  Whereas M12 is solely an easterly service.

MR. BRETT:  Okay.  So if you were going to go from Kirkwall down to Dawn you would have M12X.

MR. TETREAULT:  That's one possible transportation service that would be available to shippers.

MR. BRETT:  Yes.  And just on the -- this is mostly just on this topology of services and rates, but I noticed -- I was trying to ascertain the difference the other night between a C1 rate and an M12 rate, and am I right that the M12 -- the M12 rate is a long-term rate?  I think the notation I saw in -- and I am not sure I was looking at all the materials or even the right materials, but it looked to me like M12 was a ten-year rate, ten years and more, and the C1 is a one-year/two-year rate, a shorter-term rate?

MR. TETREAULT:  Generally speaking, M12 is the longer-term transportation service on Dawn-Trafalgar.

MR. BRETT:  And are there significant differences between M12 and C1, other than term?

MR. TETREAULT:  I am just mulling over your phrase of "significant differences".  In what regard, Mr. Brett?

MR. BRETT:  Well, I'll leave that.  Let's leave that, because that will get complicated, and I don't know enough about it to ask the right characteristics.

Just one last thing.  There was also talk in the last couple of days of a -- was it an F24T, or T24F?  What is that?  Is that a new rate?

MR. TETREAULT:  There is an F24T transportation rate.

MR. BRETT:  Yes.

MR. TETREAULT:  I would not describe it as a new rate.  It is a rate that has been on the M12 schedule, among others, for several years, if I am not mistaken.

MR. BRETT:  So it's -- all right, and is it -- in your rate handbook, all of these rates would be set out; right?

MR. TETREAULT:  That's correct.

MR. BRETT:  You mentioned it's a schedule to the M12 rate; why is that?

MR. TETREAULT:  It is an incremental service available under the M12 rate schedule, so you would find reference to F24T under that rate schedule.

MR. BRETT:  Thank you very much.  Those are my questions.

MR. MILLAR:  I think that leave us with only Mr. Shepherd.

Mr. Shepherd advises he has about half an hour.

Maybe we should take a short break to get the court reporter and the witnesses a moment to collect themselves, and we will come back at 10 after 3:00.

--- Recess taken at 2:56 p.m.

--- On resuming at 3:11 p.m.
Questions by Mr. Shepherd:


MR. SHEPHERD:  We have provided you in advance with some questions.  I think I actually don't know you.  My name is Jay Shepherd, School Energy Coalition.  I don't think I have met the three of you.

And we had several questions relating to rate design, and I will add a couple relating to cost allocation and probably add a little bit of stuff that I haven't sent you to already that I have been working on the last day.

The focus is on the harmonization of north and south rates in M1 and O1 and M2 and 10 and the change in the breakpoint.

So let me start with J.H-1-1-2-A, and this talks about the fact that you're experiencing loss of volumes in Union north.  This is -- I am on page 2 of 5 of that response.  Do you see that?

MR. TETREAULT:  We are there.

MR. SHEPHERD:  And I am wondering, how are you -- how is Union responding to that loss of volume?  Obviously a loss of volume means that the people in those classes that remain, their unit rates go up.  How are you responding to that to mitigate that problem?

MR. TETREAULT:  Jay, is this -- correct me if I am wrong, but this is a question from your pre-questions, is it not?

MR. SHEPHERD:  Yes, 26.

MR. TETREAULT:  We are working on responses to them.

MR. SMITH:  Sorry, sorry.  Let's just take them one at a time.  When you say, Mr. Shepherd, how are we mitigating the impact, what do you mean by that?  I mean, is there a part of -- there is not a specific additional rate mitigation proposal other than what's in Union's application.

MR. SHEPHERD:  I didn't use the term "mitigation", Mr. Smith.  My question says, how is -- please explain how Union is responding to the declining revenues in volumes in the north delivery area.  If the answer is, We are increasing the unit rates, and that's it, then that's an answer.  If the answer is, We are cutting costs, we are reanalyzing how we are going to deliver up there, that's a different answer.

Normal good management says you respond to a market force, so that's what I am asking.  The questions were provided in advance, and so I am assuming that it's possible to give me an answer, and I am happy to have it in writing.

MR. SMITH:  Yes, we will provide an undertaking.

MR. SHEPHERD:  Thank you.

MR. MILLAR:  JT2.22.
UNDERTAKING NO. JT2.22:  TO provide a response to school energy coalition technical conference question No. 25

MR. SHEPHERD:  I apologize in advance.  I am quite sure I can't get up to the number we had yesterday of undertakings.  I mean, I will try my best, but...

The next question relates to J.H-1-5-2.  And what you've -- you have said in that response that after you did the revenue-to-cost ratios -- I think this is what I understand -- you then -- or, no, let me put it another way.  You have set revenue-to-cost ratios on average at 1 without taking into account the S&T transactional credits, and then that reduces them further; is that right?

MR. TETREAULT:  Yes.

MR. SHEPHERD:  And would we be right in looking at the revenue-to-cost ratios that you have reported for each class and simply deducting 4.7 percent from each one, or is it not allocated that way?

MR. PANKRAC:  No, it's not allocated that way.

MR. SHEPHERD:  Then is it possible for you to give us a table that shows the revenue-to-cost ratios before and after, or is it in the evidence somewhere?  Because I looked and I couldn't find it, but maybe it's -- there is a lot of material.  Maybe it's in there.

MR. PANKRAC:  We can undertake to provide that.

MR. SHEPHERD:  Wonderful, thank you.

MR. MILLAR:  JT2.23.
UNDERTAKING NO. JT2.23:  TO PROVIDE A TABLE SHOWING THE REVENUE-TO-COST RATIOS BEFORE AND AFTER

MR. SHEPHERD:  Now, the next one is related to J.H-1-15-1 and -2, and maybe -- I have given you a written question, and I know you are looking at it, but let me just give you some numbers that we have been calculating since then to try to understand this more clearly.  And I will ask you a couple of questions associated with that.

What we did is we calculated the annual distribution bill at your published rates for 2012, '13, and proposed '14 for 49,999 annually -- annual M-cubed and 50,001, so that covers your breakpoint; right?  That's immediately before and after your breakpoint.

To try to get a -- but it's different rate classes. And what we got is that for 2012 -- and you can tell me whether I am roughly in the ballpark -- for 49,999 the annual bill is just under $1,800, and for 50,001, 2 M-cubes more, it's over $2,600.  Am I in the ballpark there?

MR. TETREAULT:  I don't know, Mr. Shepherd.  We are still working on responses to your questions.  So I wouldn't want to attempt to do the math while I am here.

MR. SHEPHERD:  I am not asking you to do math, and that's why I didn't give you the precise numbers.  If it's more expensive to go those extra couple of M-cubes into rate M2, that's very unusual; right?  It's very unusual that if you go into a higher similar rate class your cost is greatly higher for a similar volume, isn't it?  Put it this way:  I have never seen it before.  And I have seen lots and lots of rate schedules for various types of utilities.  Have you seen it before?

MR. SMITH:  I am struggling with what aspect of the evidence you are seeking to clarify in that question.

MR. SHEPHERD:  We asked interrogatories dealing with precisely this point, which is that when you go from M1 to M2 at the breakpoint it's not a smooth transition, and in fact it's a counterintuitive transition, and the responses we got were, No, everything's fine, so I am trying to understand why everything's fine.  I asked the question, and it appears that your witness wasn't even aware that there was a problem of this magnitude.

MR. SMITH:  Well, what the witness has indicated is that he has not had an opportunity to review the answers and complete the questions that you provided.  That's what the witness has indicated.

MR. SHEPHERD:  Okay.  So I am asking the -- at a higher level -- I am still going to ask for the details, and I am going to ask you to provide that to us later.  That's fine.  But at the higher level, were you aware -- or let me put it to you a different way.

Are you aware that an M2 customer right now at the breakpoint pays a great deal more, something like 40 percent more, than an M1 customer at the breakpoint?

MR. SMITH:  Mr. Shepherd, the question that you are positing is premised upon the math that you have done which the witness has not had an opportunity to do.  And so while I appreciate you are saying it's not the same question or it's a higher-level question, it's -- the premise of that question is what's still out for Union to consider.  That's the problem.

MR. SHEPHERD:  Yes, except that we asked a question saying that this was a problem, so we gave lots and lots -- a month notice that there was a problem here at the breakpoint, and so it's legitimate for me to -- let me put it to you a different way.

The point of having an oral technical conference is so that we can explore these issues and figure out what the right answers are and make sure that we don't have any loose ends.  That's what I am trying to do.

I understand that there are numbers involved, but this is too big a difference for a rate-design person not to know it if it's correct.

MR. SMITH:  I don't know what we are supposed to say in response to that, Mr. Shepherd.  That's not a question.  That's just a statement.

MR. SHEPHERD:  No, I am explaining to you why I want my question answered.

MR. SMITH:  You have Mr. Tetreault's answer.

MR. SHEPHERD:  Actually, I have your answer, saying no, don't answer it.

All right.  Then I am going to put to you some numbers, which -- they will be in the transcript, I guess, but I can give them to you by e-mail, as well, and ask you to confirm that these are correct and to do some calculations.

MR. SMITH:  We will do that.

MR. SHEPHERD:  And the numbers are as follows.

In 2012 at 49,999 annual M-cubed, 2012 annual distribution bill 1,791.79.

In 2013, as proposed, you are proposing a 16.9 percent increase for that same customer to 2,095.45.

And for 2014 you are proposing that customer, who will now be in M2, would be charged 2,148.84, a 2.5 percent increase.

If that customer has two more M-cubes to 50,001 under M2, current M2 in 2012, their annual distribution bill will be 2,622.54.

You're proposing in 2013 to increase that by 11.5 percent to 2,924.01.

And you're proposing in 2014 to reduce it by 26.5 percent to 2,149.65.

Do you understand what each of those numbers are that I am putting to you?

MR. TETREAULT:  I do.

MR. SHEPHERD:  Okay.  I have similar numbers for '01 and '10, which I won't read into the record but I will provide you, and I am going to ask you to calculate the same numbers conceptually for a 5,000 breakpoint, that is 49,999 to 50,001, again for all three years.

So can you do that?

MR. SMITH:  Yes.

MR. MILLAR:  JT2.24.
UNDERTAKING NO. JT2.24:  to provide a response to the described CALCULATion

MR. SHEPHERD:  Do you know whether, under your current proposal, somebody who is a small customer in M2 under your proposal would have a substantial increase in 2013 and a substantial decrease in 2014?  Do you know whether that's true?

MR. PANKRAC:  Is there a particular response that we provided that you are referring to?

MR. SHEPHERD:  I am still on J.H-1-15-1.

MR. PANKRAC:  And your question is?

MR. SHEPHERD:  Were you or are you aware that, under your current proposals, a customer who is at the bottom end of the M2 class currently would have a substantial rate increase from 2012 to 2013, and a substantial rate decrease from 2013 to 2014?  Were you aware of that?

MR. PANKRAC:  For which rate classes?

MR. SHEPHERD:  I just said, M2.  In fact, I just read you out the numbers.

MR. PANKRAC:  Yes.

MR. SHEPHERD:  Yes, you were aware of that?

MR. PANKRAC:  Yes.

MR. SHEPHERD:  Okay.  And is there a change in the costs to serve that customer over those three years?  Is there a cost allocation issue associated with this?

MR. PANKRAC:  We have identified in our evidence that the real driver is not so much the costs, but how those costs are reflected in rates.

And we walked through a detailed analysis explaining where those costs are recovered in which components of the rates.

MR. SHEPHERD:  And we saw that in your answer to the interrogatory, in fact.  You do an analysis of the rate design factors that are causing this to happen; right?

But I guess what I am trying to understand is -- I am trying to take away the cost allocation component of that and make sure that all we are talking about is how the rate is designed, not how the costs are allocated.

They are not being allocated differently; right?

MR. PANKRAC:  No, the costs are not being allocated differently.

MR. SHEPHERD:  Perfect.  So from the sublime to the ridiculous, if I can go to the J.H-1-15-2, attachment 4, this -- right at the bottom line, line 12.

MR. PANKRAC:  I am there.

MR. SHEPHERD:  Suggests that the volumetric rate is 5 cents -- sorry, the equivalent volumetric rate of the customer charge is 5 cents for M1 and 8.4 cents for M2; are those numbers correct?

MR. PANKRAC:  The numbers are correct, but there is a correction that I would like to make you aware of.

At line 12, you will notice that in the heading it refers to a breakpoint of 5,000 cubic metres, but at line 12 in the description following "Equivalent volumetric charge" that number should actually be 5,000 cubic metres, not 50,000 cubic metres.

And so we would like to put that correction in the record.

MR. SHEPHERD:  Wonderful.  Thank you.

It's a credit to the quality of your evidence that it took me, like, half an hour to figure out that there had to be an error in it, because I just assumed it was not possible.

All right.  The next one is J.H-3-15-3, and we asked a number of questions, specific questions in which we sort of asked for yes/no answers, and you referred us back to J.H-1-15-2, so we are asking you:  Can you give us those specific answers to that question?

I realize that you have a whole explanation of it in 1-15-2, but it would be of assistance if we had the simple answers in this 3-15-3, if you could provide them.

Could you undertake to do that?

MR. SMITH:  Yes, we will do that.

MR. SHEPHERD:  Wonderful.

MR. MILLAR:  JT2.25.
UNDERTAKING NO. JT2.25:  to provide a response to school energy coalition technical conference question No. 31, reF: exhibit j.h-3-15-3

MR. SHEPHERD:  And I think I have now asked 3-15-4 -- oh, no, I haven't.  No, This is a different question. Sorry, I lied.

MR. SMITH:  Sorry, just one second, Mr. Shepherd.

Sorry, Mr. Shepherd, I may have responded too quickly to your 3-15-3.  Your first two, (a) and (b), are yes/no as your comment had implied.

But beginning at item (c), for example:

"Please identify and quantify all dis-economies of scale affecting the cost to distribute gas to higher-volume general service customers."

Would not fall into that same category.

MR. SHEPHERD:  Yes, but that is not in 1-15-2, so I am still asking that it be answered.  So unless it's not relevant, I think I am entitled to an answer.

MR. SMITH:  I guess I would ask the witnesses:  Is it possible to do that?

MR. TETREAULT:  We can attempt to.

MR. SMITH:  Okay.  Then we will do that.

MR. TETREAULT:  I don't know what we will find, but we can try.

MR. SMITH:  Okay.

MR. SHEPHERD:  Wonderful.  The next is 4-4-1.  And I am wondering if you can add two columns for 2014 proposed to that table.  Is that possible?

MR. SMITH:  Just one minute.

MR. PANKRAC:  Yes, we can provide that.

MR. SMITH:  Yes, we will do that.

MR. MILLAR:  JT2.26.
UNDERTAKING NO. JT2.26:  with reference to school energy coalition technical conference question No. 33, reF: exhibit j.h-4-4-1, TO ADD TWO COLUMNS FOR 2014 PROPOSED TO THE TABLE

MR. SHEPHERD:  And then I just have a couple of questions on cost allocation.  The first is a sort of a more general one.  In looking at these ups and downs of M1 and M2 and O1 and O2 and 10, we looked for a cost allocation for 2014, for the proposed new breakpoint.  Did you do a new cost allocation to adjust for the new breakpoint?

MR. TETREAULT:  No, we did not.  There is only the file 2013 cost allocation study.

MR. SHEPHERD:  So then how did you know what costs should be borne by those two classes for 2014?  How did you set the rates if you don't know what costs should be borne?  I don't understand.

MR. PANKRAC:  We used the best information that we have, which is the 2010 actual data, and then we apply approved cost-allocation methodologies, and that is similar to what we did when we did in 2007 the breakpoint that split the previous M2 class.

The challenge we have and the reason that we use actual data as a proxy is that until you actually gain some experience with it you don't have the full amount of evidence to do a formal cost study in its full detail.

MR. SHEPHERD:  The trick is to identify the costs for those between 5,000 and 50,000; right?  You have to -- if you can identify those costs, then they were in M1 and they go to M2 -- or, sorry, they were in -- yes, in M2 and they go to M1; right?

MR. PANKRAC:  I disagree with your premise that we don't separately identify cost for customers from the 5,000 to 50,000.  With a breakpoint of 5,000 we just have the costs for those under 5,000 and those over 5,000.

MR. SHEPHERD:  No, I understand, but I am saying the difference between the cost allocation study you have, which is at a 50,000 breakpoint, and the cost allocation study you need for 2014 to do -- to figure out what each class should bear, is whatever the costs are for those between 5,000 and 50,000; right?  Because you have to move them from one class to another.  You have to move their costs too; right?

MR. PANKRAC:  We don't do costing on the sub-part.  You look at the entire classes, and then you base your costs on the entire class.

MR. SHEPHERD:  But doesn't that mean -- and again, I am just trying to understand how you did it, because I always understood that rate design came after you figured out what costs each class had to bear.  And doesn't that mean that the way you're suggesting it that you're assuming that the costs in a given class are homogenous between the members of the class?  That each of them have the same sort of unit costs than each other one?

MR. PANKRAC:  No, that's not the assumption.

MR. SHEPHERD:  Do you have somewhere in your evidence the full calculation that adjusts the costs allocated between 2013 and 2014?  I couldn't find it.  Maybe it's in there, but I couldn't find it.  Not the general explanation.  I saw that.  But the full calculation.

MR. PANKRAC:  In our evidence at H3, tab 11, schedule 2, we show the rates resulting from the re-determined costs.

MR. SHEPHERD:  But that's sort of not what I am asking.  What I am trying to get at is, you had a cost allocation study, 2013, and you've then adjusted that to 2014 in order to set rates; right?  And you did that -- there is a mathematical calculation you did to do that.

MR. PANKRAC:  That's correct.

MR. SHEPHERD:  And do we have that?  Because I can't find it.

MR. TETREAULT:  I don't think that detail, Mr. Shepherd, is in our pre-filed evidence.  We have obviously got the resultant rates on H3, tab 11, schedule 2, but I don't believe the underpinning working papers are filed.

MR. SHEPHERD:  Okay.  So what I would like to see and what I would like you to undertake to provide is the costs that were allocated to M1, M2, O1 and 10 for 2013 and the costs that were allocated to them for 2014, and what adjustments were made to get from one to the other, and how the math worked, if you like.

MR. SMITH:  Yes, we will do that.

MR. SHEPHERD:  Wonderful.

MR. MILLAR:  JT1.27.
UNDERTAKING NO. JT1.27:  TO PROVIDE THE COSTS ALLOCATED TO M1, M2, O1, AND O10 FOR 2013 AND 2014; AND WHAT ADJUSTMENTS WERE MADE TO GET FROM ONE TO THE OTHER

MR. SHEPHERD:  And that's it.  I have no more questions.

MR. MILLAR:  Is there anyone else?

MR. SMITH:  Just, Mr. Thompson had asked us to look at some of his questions.  We have an answer to H10.  And there had been a request to modify the slides.  We are not going to modify the slides, but if the revenue deficiency were zero, as requested -- or as premised in the question, then on average the rate increase would be zero.  I'd just ask Mr. Tetreault to confirm that.

MR. TETREAULT:  That's correct, on average.

MR. MILLAR:  Anything more, Mr. Smith?

MR. BRETT:  I missed that.  Could you just say that once more for...

MR. SMITH:  If the deficiency were zero on average, the rate increase would be zero.

MR. BRETT:  Okay.

MR. MILLAR:  Anything else, Mr. Smith?

MR. SMITH:  No, that's it.

MR. MILLAR:  Okay.  Thank you.  That concludes the tech conference.  Thank you to the witnesses and the court reporters and the parties.  We are adjourned.

MR. SMITH:  Thank you.

--- Whereupon the proceedings adjourned at 3:39 p.m.
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